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Study material for class IX
CHAPTER -1 The French Revolution

In 1774, Louis XV1 of the Bourbon family of kings ascended the throne of France. Upon his accession the new
king found an empty treasury.

To meet its regular expenses, such as the cost of maintaining an army, the court, running government offices or
universities, the state was forced to increase taxes.

French society in the eighteenth century was divided into three estates, and only members of the third estate paid
taxes. The members of the first two estates, that is, the clergy and the nobility, enjoyed certain privileges by
birth. The most important of these was exemption from paying taxes to the state.

The population of France rose from about 23 million in 1715 to 28 million in 1789. This led to a rapid increase
in the demand for foodgrains. Production of grains could not keep pace with the demand. So the price of bread
which was the staple diet of the majority rose rapidly

Peasants and workers were highly dissatisfied. They revolted every now and then against increasing taxes and
food scarcity. They Wanted to bring about a change in country’s social order.

The eighteenth century witnessed the emergence of social groups, termed the middle class.

All of these were educated and believed that no group in society should be privileged by birth. Rather, a person’s
social position must depend on his merit.

These ideas envisaging a society based on freedom and equal laws and opportunities for all, were put forward by
philosophers such as John Locke and Jean Jacques Rousseau. In his Two Treatises of Government, Locke sought
to refute the doctrine of the divine and absolute right of the monarch. Rousseau carried the idea forward,
proposing a form of government based on a social contract between people and their representatives. In The
Spirit of the Laws, Montesquieu proposed a division of power within the government between the legislative, the
executive and the judiciary.

In France of the Old Regime the monarch did not have the power to impose taxes according to his will alone.
Rather he had to call a meeting of the Estates General which would then pass his proposals for new taxes. The
Estates General was a political body to which the three estates sent their representatives. However, the monarch
alone could decide when to call a meeting of this body. The last time it was done was in 1614.

On 5 May 1789, Louis XV called together an assembly of the Estates General to pass proposals for new taxes.
When the king rejected this proposal, members of the third estate walked out of the assembly in protest.

Faced with the power of his revolting subjects, Louis XV1 finally accorded recognition to the National Assembly
and accepted the principle that his powers would from now on be checked by a constitution. On the night of 4
August 1789, the Assembly passed a decree abolishing the feudal system of obligations and taxes. Members of
the clergy too were forced to give up their privileges. Tithes were abolished and lands owned by the Church
were confiscated.

The National Assembly completed the draft of the constitution in 1791. The Constitution of 1791 vested the
power to make laws in the National Assembly, which was indirectly elected.

The situation in France continued to be tense during the following years. Although Louis XV had signed the
Constitution, he entered into secret negotiations with the King of Prussia. Rulers of other neighbouring countries
too were worried by the developments in France and made plans to send troops to put down the events that had
been taking place there since the summer of 1789. Before this could happen, the National Assembly voted in
April 1792 to declare war against Prussia and Austria.

In the summer of 1792 the Jacobins planned an insurrection of a large number of Parisians who were angered by
the short supplies and high prices of food. On the morning of August 10 they stormed the Palace of the Tuileries,
massacred the king’s guards and held the king himself as hostage for several hours. Later the Assembly voted to
imprison the royal family. Elections were held. From now on all men of 21 years and above, regardless of
wealth, got the right to vote.
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C. Aristocracy
D. None of these
ANSWER- A. It stood for the despotic power of the king.

9 3. gIT-FRITIR STEcel § Fofl gor 4T Tt A2
T| Ig I Y foikaper orfea & fore @t a|

B. TTATRITET & RO

| 3rfarstre a9

S 1A B IS Tl

3 U\ Ig TSI AT fAieper Aaferd & forw @sr 7|

Q.4.Who was the king of France at the time of the French Revolution
A.Napoleon Bonaparte

B.Louis XVI

C.Louis XV

D.Nicholous I

ANSWER- B.Louis XVI

Q.4. T HITY & THT Wig T TS it AT?
A Fqiforaa Siamare

B. ofgd XVI

C.dsd XV

D.faererw s

3W- B. 38 XVI

Q.5.What was livre?

A.A unit of currency in France

B.A tax levied by the church

C.A group of privileged people

D.A tax to be paid directly to the state
ANSWER- A.A unit of currency in France

Q.5. fora¥ &/ar um?

ShI¥T 3 HET hi Teh gohTS

B. T GaRT ST SiTel aTell X

C. TSR gred oitell &1 HHg

D. TEY T Y $ITATT fohaT STt aTell T
3R- A. BIE H el &l Teh h1g

Q.6.What was sceptre?

A.Symbol of strength

B. Symbol of eternity

C. Symbol of deep knowledge

D. Symbol of royal power
ANSWER- D. Symbol of royal power

T.6. TSIS AT AT?
A. ATFd & IdTeh
CIRGLREIRE IR GIED



C. Right to divorce
D.Right to vote
ANSWER- D.Right to vote

T.10.1946 F HIAT ATG 3T I ieT AT JTSR fear aram ar?
A TSI Ue GROT el T TR

B. TR1&1T 9red et 1 R

C. delTeh &I TSR

D. AT &1 AfHR

3d3- D. AdEIT &l 8RR

TWO MARKS QUESTION

Q.1.Differentiate between Tithe and Taille?

ANSWER

Tithe — A tax levied by the church, comprising one-tenth of the agricultural produce
Taille — Tax to be paid directly to the state

Q.1. Tithe 3iR Taille 7 37X IdTU?
3
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Q.2.What do you mean by broken chain?
ANSWER- The broken chain: Chains were used to fetter slaves. A broken chain stands for the act of becoming
free.
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Q.3. When was the National Assembly completed the draft of the constitution and what was its objective?
ANSWER- The National Assembly completed the draft of the constitution in 1791. Its main object was to limit
the powers of the monarch. These powers instead of being concentrated in the hands of one person, were now
separated and assigned to different institutions — the legislature, executive and judiciary. This made France a
constitutional monarchy

9ReT 3. AR 3Tl o HITUT T KT ehel T AT 3R SHRT 3T 4T UT?

3R AU 3Tl 1 1791 H FIAUTA o TG T T THAT| SR HET 32T FHTC T ATFdT T HAT
AT AT A ATFTAT Teh TTFA o &TUT H higd glel oh TATT 3 IHeTeT-3eTeT FEAT3HT - faenfyent, swryarfersr
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Q.4.Differentiate between active citizen and passive citizen

ANSWER- The Constitution of 1791 vested the power to make laws in the National Assembly, which was
indirectly elected. That is, citizens voted for a group of electors, who in turn chose the Assembly. Not all
citizens, however, had the right to vote. Only men above 25 years of age who paid taxes equal to at least 3 days
of a labourer’s wage were given the status of active citizens, that is, they were entitled to vote. The remaining

men and all women were classed as passive citizens. To qualify as an elector and then as a member of the
Assembly, a man had to belong to the highest bracket of taxpayers.



il IERT TEE 3T STeTlT AT AT 1Y 3 AT, SATINY, Fehred, foharet, TR, ${fRET Hotqy 3fe § |

Q.3.What did the revolutionary government do to improve the condition of women in France?

ANSWERK-I. Creation of state schools, schooling was made compulsory for all girls.

I1.Their fathers could no longer force them into marriage against their will.

I11.Marriage was made into a contract entered into freely and registered under civil law.

IV.Divorce was made legal, and could be applied for by both women and men. Women could now train for jobs,
could become artists or run small businesses.
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Q.4.Write a short note on Directory?

ANSWER- A new constitution was introduced which denied the vote to non-propertied sections of society. It
provided for two elected legislative councils. These then appointed a Directory, an executive made up of five
members. This was meant as a safeguard against the concentration of power in a one-man executive as under the
Jacobins. However, the Directors often clashed with the legislative councils, who then sought to dismiss them.
The political instability of the Directory paved the way for the rise of a military dictator, Napoleon Bonaparte.
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Q.5.What role did philosophers play in the French Revolution?

ANSWER-The philosophers played an important role in the French Revolution.They inspired the common mass
of France with their revolutionary ideas and prepared them to fight against injustices. These ideas envisaging a
society based on freedom and equal laws and opportunities for all, were put forward by philosophers such as
John Locke and Jean Jacques Rousseau. In his Two Treatises of Government, Locke sought to refute the doctrine
of the divine and absolute right of the monarch. Rousseau carried the idea forward, proposing a form of
government based on a social contract between people and their representatives. In The Spirit of the Laws,
Montesquieu proposed a division of power within the government between the legislative, the executive and the
judiciary
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In 1774, Louis XVI1 of the Bourbon family of kings ascended the throne of France. Upon his accession the new
king found an empty treasury. Long years of war had drained the financial resources of France. Added to this
was the cost of maintaining an extravagant court at the immense palace of Versailles

Under Louis XVI, France helped the thirteen American colonies to gain their independence from the common
enemy, Britain. The war added more than a billion livres to a debt that had already risen to more than 2 billion
livres. Lenders who gave the state credit, now began to charge 10 per cent interest on loans. So the French
government was obliged to spend an increasing percentage of its budget on interest payments alone.

To meet its regular expenses, such as the cost of maintaining an army, the court, running government offices or
universities, the state was forced to increase taxes.

Yet even this measure would not have sufficed. French society in the eighteenth century was divided into three
estates, and only members of the third estate paid taxes.

The eighteenth century witnessed the emergence of social groups, termed the middle class, All of these were
educated and believed that no group in society should be privileged by birth. Rather, a person’s social position
must depend on his merit. These ideas envisaging a society based on freedom and equal laws and opportunities
for all, were put forward by philosophers such as John Locke and Jean Jacques Rousseau.
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CHAPTER -2 Socialism in Europe and the Russian Revolution

THE AGE OF SOCIAL CHANGE

The French Revolution opened up the possibility of creating a dramatic change in the way in which society was
structured. Not everyone in Europe, however, wanted a complete transformation. Socialism in Europe and the
Russian RevolutionSome were ‘conservatives’, while others were ‘liberals’ or ‘radicals’.

Liberals: Wanted a nation which tolerated all religions. They were against the uncontrolled power of the dynastic
rulers. They wanted rights for individuals. They argued for an elected parliamentary government, subject to laws
interpreted by a well trained judiciary that was independent of rulers and officials. They were not democrats
because they did not believe in universal adult franchise.



sentiments ran high. Russian armies lost badly in Germany and Austria. There were 7 million casualties and 3
million refugees in Russia.

The war also affected the industry. There was labour shortage, railway lines were shut down and small
workshops were closed down. There was shortage of grain and hence of bread.

THE FEBRUARY REVOLUTION IN PETROGRAD

Events

In the winter of 1917, Petrograd was grim. There was food shortage in the workers’ quarters.

22 February : a lockout took place at a factory. Workers of 50 other factories joined in sympathy. Women also
led and participated in the strikes. This came to be called the International Women’s Day.

The government imposed a curfew as the quarters of the fashionable area and official buildings were surrounded
by workers.

On the 24th and 25th, the government called out the cavalry and police to keep an eye on them.

On 25th February, the government suspended the Duma and politicians spoke against this measure. The people
were out with force once again.

On 27th, the police headquarters were ransacked.

Cavalry was called out again however it refused to fire on demonstrators.

An officer was shot at the barracks of a regiment and other regiments mutinied, voting to join the striking
workers gathered to form a soviet or council. This was the Petrograd Soviet.

A delegation went to meet the Tsar, military commanders advised him to abdicate.

The Tsar abdicated on 2nd March.

A Provincial Government was formed by the Soviet and Duma leaders to run the country.

The people involved were the parliamentarians, workers, women workers, soldiers and military commanders.
Effects

Restrictions on public meetings and associations were removed.

Soviets were set up everywhere.

In individual areas factory committees were formed which began questioning the way industrialists ran their
factories.

Soldiers’ committees were formed in the army.

The provisional government saw its power declining and Bolshevik influence grow. It decided to take stern
measures against the spreading discontent.

It resisted attempts by workers to run factories and arrested leaders.

Peasants and the socialist revolutionary leaders pressed for a redistribution of land. Land committees were
formed and peasants seized land between July and September 1917.

OCTOBER REVOLUTION

16th October 1917 — Lenin persuaded the Petrograd Soviet and Bolshevik Party to agree to a socialist seizure of
power. A Military Revolutionary Committee was appointed by the Soviet to organise seizure.

Uprising began on 24th October. Prime Minister Kerenskii left the city to summon troops.

Military men loyal to the government seized the buildings of two Bolshevik newspapers. Pro-government troops
were sent to take over telephone and telegraph offices and protect the Winter Palace.

In response Military Revolutionary Committee ordered to seize government offices and arrest the ministers.

The ‘Aurora’ ship shelled the Winter Palace. Other ships took over strategic points.

By night the city had been taken over and ministers had surrendered.

All Russian Congress of Soviets in Petrograd approved the Bolshevik action.

Heavy fighting in Moscow — by December, the Bolsheviks controlled the Moscow — Petrograd area.

The people involved were Lenin, the Bolsheviks, troops (pro-government).

Effects

Most industry and banks were nationalised in November 1917.
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Q.2.When was the Russian Social Democratic Workers party founded?
a.1898

b.1889

c.1887

d.1801

ANS-1898

Q.2. wwem%mmaéﬁtrﬁaﬁwmwgézﬁ?
T.1898

«i1.1889

Hr.1887

31.1801
ANS-1898

Q.3.Who were jaddists within the Russian empire?
a.muslim reformers

b.muslim workers

c.buddhist reformers

d.buddhist cultivators

ANS -Muslim reformers

Q.3.5H TTHTST & AT STearey &hisT A?
a AfETH gUR+

b ATETH Rl

c.Slcy gURS

d.Sleer srRder

ANS-AETH IR

Q.4.When did the first world war break out
a.1941

b.1911

c.1914

d.1918
ANS-1914

e 4. 9UH 399 geur e fosr ar?
T.1941

a1.1911

Hr.1914

31.1918

ANS-1914

Q.5.In which year was the monarchy brought down in Russia?
a.1917

b.1907

€.1905

d.1901

ANS-1917
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Q.9.Who were kulaks in Russia?
a.Rich farmers

b.poor farmers

c.low paid factory workers
d.muslim leaders
ANSWER-Rich farmers

cr.9.wﬁ§m¢aﬁ;r 2

&. YT fohdreT

b.sR« forareT

Tl A IdeT dTel FRETA & HATHG

d.F e AT

3AT- =T foRareT

Q.10.Who started collectivization programme in Russia?
a.Stalin

b.Lenin

c.Kerenskii

d.Trotskii
ANSWER-Stalin
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Q.List two features of conservatives

ANSWER-Conservatives were opposed to radicals and liberals. After the French Revolution, however, even
conservatives had opened their minds to the need for change.

I)they accepted that some change was inevitable
I1)but believed that the past had to be respected and change had to be brought about through a slow process.

Q. wfearfet #r aF faRrwarsif & Fit e

FR-SATET sheeu AT 3R eRarfeat & favrel 2| widieh smifa & a1, grefifer, ®fearfear & iy IRadeT
T HTALTRAT o UTd 3TYAT FHeT WheT TST AT|

1) 3giel Tt fomam 3 e aRacier 3raferd ar

1) SfeheT 3eTepT ATAAT 2T b 37T &1 TFAT foham ST anfew 3R efelt ufshar & Areysr @ aRada o
ST AT

Q.List two features of Liberals

ANSWER- Liberals also opposed the uncontrolled power of dynastic rulers.

They wanted to safeguard the rights of individuals against governments.

They argued for a representative, elected parliamentary government, subject to laws interpreted by a well-trained
judiciary that was independent of rulers and officials.
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THREE MARKS QUESTION
Q.1.Explain Lenin’s April Theses.
ANSWER-i.The war brought to an end
ii.Land be transferred to the peasants
iii. The banks be nationalised

Q.1. st & 38 N/ Fr cIrEaT HY |

ii. 8718 ThaTeil shY GEATA R el ST

iii. ST ST ASEIIRIOT TohaT ST

Q.2.How did the first world war affect the industry in Russia?

ANSWER-The first world war affect the industry in Russia in several ways

I.Russia’s own industries were few in number and the country was cut off from other supplies of industrial goods
by German control of Baltic Sea

I1.Industrial equipments disintegrated more rapidly in Russia then elsewere in Europe.
I11.There was labour shortage and small workshops producing essentials were shut down
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Q.3.What steps were taken by the Bolsheviks to make Russia a socialist society?

ANSWER-

I.The Blosheviks kept industries and banks nationalised ,they permitted peasants to cultivate the land that had
been socialised

I1.A process of centralised planning was introduced .Officilas assessed howthe economy could work and set
targets for a five year period

I11.An extended schooling system was developed and arrangements were made for factory workers and peasants
to enter universitie
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Q.4.How were Bolsheviks different from the Mensheviks?

ANSWER-

I.The Bolsheviks were led by b Vladimir Lenin while Mensheviks were led by Alexander Kerenskii
11.The Bolsheviks constituted a majority of the socialists but the Mensheviks represented a minority group




I. The Bolsheviks were against private property .Hence most industries and banks were nationalised .
Il.Land was declared social property and peasants were allowed to seize the land of the nobility.
I11.In cities Bolsheviks Inforced the partition of large houses according to family requirements
IV.Old titles of aristocracy were banned .

V.New uniforms were designed for the army and officials.
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Q.2.What do you know about the Bloody Sunday ?What is its significance in the history of Russia?

ANSWER-

The year 1904 was a particularly bad one for Russian workers. Prices of essential goods rose so quickly that real
wages declined by 20 per cent

When four members of the Assembly of Russian Workers, which had been formed in 1904, were dismissed at
the Putilov Iron Works, there was a call for industrial action.

Over the next few days over 110,000 workers in St Petersburg went on strike demanding a reduction in the
working day to eight hours, an increase in wages and improvement in working conditions.

When the procession of workers led by Father Gapon reached the Winter Palace it was attacked by the police
and the Cossacks

Over 100 workers were killed and about 300 wounded. The incident, known as Bloody Sunday, started a series
of events that became known as the 1905 Revolution.

The incident had great significance in the history of Russia because its started a series of events that came to be
known as the 1905 revolution. Strikes took place all over the country and universities closed down when student
bodies staged walkouts, complaining about the lack of civil liberties. Lawyers, doctors, engineers and other
middle-class workers established the Union of Unions and demanded a constituent assembly.

This led to the creation of Duma and the workers formed soviet or council.
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Hitler’s Rise to Power

Hitler was born in Austria in 1889. He earned many medals for bravery in the First World War.

The German defeat horrified him. The Treaty of Versailles made him furious.

He joined the German Workers Party and renamed it National Socialist German Workers’ Party. This later came
to be known as the Nazi Party.

Nazism became a mass movement only during the Great Depression. The Nazi propaganda stirred hopes of a
better future. Hitler was a powerful and effective speaker. He promised the people a strong nation where all
would get employment.

The Destruction of Democracy: Hitler achieved the highest position in the cabinet of ministries on 30 January
1933. Hitler then set out to dismantle the structures of democratic rule.

The Fire Decree of 28 February 1933 suspended civic rights like freedom of speech, press, and assembly. The
Communists were hurriedly packed off to newly established concentration camps. All political parties were
banned. Special surveillance and security forces were created to control the people and rule with impunity.
Reconstruction: Economist Hjalmar Schacht was given the responsibility of economic recovery. This was to be
done through a state-created economic programme.

Hitler pulled out of the League of Nations in 1933, reoccupied the Rhineland in 1936 and integrated Austria and
Germany in 1938 under the slogan: One people, One empire, One leader.

He then took Sudetenland from Czechoslovakia. Hitler had the unspoken support of England.

He did not stop here. He chose war as a way out of the Economic Crisis.

Resources were to be accumulated through the expansion of territory. In September 1940” Germany invaded
Poland. This started a war with France and England. The USA resisted involvement in the war. But when Japan
extended its support to Hitler and bombarded Pearl Harbour, the USA entered the war. The war ended in 1945
with Hitler’s defeat and the US bombing of Hiroshima and Nagasaki in Japan.

The Nazi World Wide

According to Nazi ideology, there was no equality between people, but only racial hierarchy. The Nazis quickly
began to implement their dream of creating an exclusive racial community of pure Germans by physically
eliminating all those who were considered undesirable. They wanted a society of pure and healthy Nordic
Aryans. Jews, Gypsies, Blacks, Russian, Poles, even certain Germans, and abnormals were considered
undesirable.

The other aspect of Hitler’s ideology related to the geopolitical concept of Lebensraum, or living space. Jews
were the worst sufferers in Nazi Germany. Hitler believed in pseudoscientific theories of a race which said that
conversion was no solution to the Jewish problem. It had to be solved through their total elimination.

From 1933-1938 — the Nazis terrorized, pauperized and segregated the Jews, compelling them to leave the
country.

The next phase, 1939-1945, aimed at concentrating them in certain areas and then killing them in gas chambers
in Poland.

The Racial Utopia

Genocide and war became two sides of the same coin. Occupied Poland was divided. Poles were forced to leave
their homes and properties behind to be occupied by the ethnic Germans brought in from occupied Europe.
Youth in Nazi Germany

Hitler felt that a strong Nazi society could be established by teaching Nazi ideology to children.

All schools were given German teachers. Children were divided into two groups- desirable and undesirable.
Textbooks were rewritten, functions of sports in schools was to nurture the spirit of violence and aggression.
Ten-year-olds had to enter Jungvolk. At 14, all boys joined ‘Hitler Youth’, they joined the Labour Service at 18.
The Nazi Cult of Motherhood — Women were told to be good mothers and rear pure-blooded Aryan children.
They were encouraged to produce many children.

The Art of Propaganda — The Nazi regime used language and media with care and often to great effect. They
used films, pictures, radio, posters, etc., to spread hatred for Jews.

Crimes Against Humanity — People saw the world through Nazi eyes and spoke the Nazi language. At times
even the Jews began to believe in the Nazi stereotypes about them
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a.England

b.Austria

c.France

d.Russia

ANSWER- b.Austria
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Q.2.Waht was Rhur famous for
a.Gold

b.Diamond

c.Coal

d.None of these
ANSWER- c.Coal
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Q.3.When was the famous enabling act passed?
a.13 March 1993

b.23March 1937

c.3 March 1933

d.3April 1933

ANSWER- c.3 March 1933

Q.3.ufcy saafoier tae e atiRd foharm arar 2m?
T.13 AT 1993

b.23 AT 1937

c.3 AT 1933

d.3 37T 1933

3d3- ¢.3 ATT 1933

Q.4.Who among the following were considered desiarbles by Nazis?
a.Jews

b.Gypsies

c.Blacks

d.Nordic German Aryans

ANSWER- d.Nordic German Aryans

Q.4.Frfaf@a A & ford TSI SaRT ATSAT HATAT SATAT 2T?
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Q.8.Where was Hitler born?
a.Austria

b.France

c.Germany

d.Russia

ANSWER- a.Austria
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Q.9.In which year was the second world war ended?
a.May 1945

b.May 1947

c.March 1945

d.September 1942

ANSWER- a.May 1945

Q.9. il faea Jer ford oy HATCA g3 2m?
%, 7S 1945

b.#HS 1947
Y| AT 1945
31| F&deT 1942

3TT- 2. 7S 1945

Q.10. Which game was glorified by Hitler ?
(a) wresting

(b) kabaddi

(c) hockey

(d) boxing

Ans- (d) boxing

7.10. igcer o fora Wt a1 AfgATHST fohar am?
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Q.2.’The peace treaty of Versailles with allies was a harsh and humiliating peace ‘Explain this statement.
ANSWER-As a result of the treaty lost its overseas colonies,a tenth of its population ,13% of its territories,75%
of its iron and 26% of its coal to France ,Poland,Denmark and Lithuania.The allied powers demilitarised
Germany to weaken its power.The war guilt clause held Germany responsible for the war and damages the allied
countries suffered .Germany was forced to pay the compensation amounting to 6 billion pounds.The allied
armies also occupied the resource rich Rhineland for much of the 1920s.
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Q.3.What promises did Hitler make to German people?How did he mobilise them ?

ANSWER-Hitler promised to build a strong nation ,undo the injustice of the Versailles Treaty and restored the
dignity of the German people.He promised Employment for those looking for work and secured future of the
youth.In order to mobilise German people Hitler Held massive rallies and public meetings .The red banner with
the swastika ,the nazi salute and the ritualised round of applause after the speeches left deep influence on the
minds of the German people.
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Q.4.What was the status of mothers under Nazism?

ANSWER-Under Nazism all mothers were not treated equally.Women who bore racially undesirable children
were punished and ,those who produced racially desirable were awarded.

They were given favoured treatment in hospitals and were also entitled to concessions in shop and on theatre
tickets and railway fares.To encourage women to produce many children honour crosses were awarded.Abronze
cross was given for four children,silver for six and Gold for eight or more.
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Q.5.How did the common people of Germany react to Nazi Ideology?
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Q.2.What peculiar features of Nazi thinking?

I. There was no equality between people, but only a racial hierarchy. In this view blond, blue-eyed, Nordic
German Aryans were at the top, while Jews were located at the lowest rung. They came to be regarded as an
anti-race, the arch-enemies of the Aryans. All other coloured people were placed in between depending upon
their external features.

I1. The Aryan race was the finest. It had to retain its purity, become stronger and dominate the world.

I11.They glorified war .There only aim was to unite all people of the Ayan race under one state that is Germany.
IV. Hitler believed that new territories had to be acquired for settlement. This would enhance the area of the
mother country, while enabling the settlers on new lands to retain an intimate link with the place of their origin.
It would also enhance the material resources and power of the German nation.

V. Nazis wanted only a society of ‘pure and healthy Nordic Aryans’. They alone were considered ‘desirable’.
Only they were seen as worthy of prospering and multiplying against all others who were classed as
‘undesirable’. This meant that even those Germans who were seen as impure or abnormal had no right to exist
VI. Nazi hatred of Jews had a precursor in the traditional Christian hostility towards Jews. They had been
stereotyped as killers of Christ and usurers.Until medieval times Jews were barred from owning land. They
survived mainly through trade and moneylending. They lived in separately marked areas called ghettos. They
were often persecuted through periodic organised violence, and expulsion from the land.
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CHAPTER -4 Forest Society and Colonialism
Why Deforestation?

Land to be Improved

Sleepers on the Tracks

Plantations

The Rise of Commercial Forestry




without any notice or compensation. For long, villagers had been suffering from increased land rents and
frequent demands for free labour and goods by colonial officials. Then came the terrible famines, in 1899-1900
and again in 1907-1908. Reservations proved to be the last straw.

People began to gather and discuss these issues in their village councils, in bazaars and at festivals or wherever
the headmen and priests of several villages were assembled. The initiative was taken by the Dhurwas of the
Kanger forest, where reservation first took place. Although there was no single leader, many people speak of
Gunda Dhur, from village Nethanar, as an important figure in the movement

Forest Transformations in Java

Java in Indonesia is where the Dutch started forest management. Like the British, they wanted timber from Java
to build ships. In 1600, the population of Java was an estimated 3.4 million. There were many villages in the
fertile plains, but there were also many communities living in the mountains and practising shifting cultivation.
The Kalangs of Java were a community of skilled forest cutters and shifting cultivators. They were so valuable
that in 1755 when the Mataram kingdom of Java split, the 6,000 Kalang families were equally divided between
the two kingdoms. Without their expertise, it would have been difficult to harvest teak and for the kings to build
their palaces. When the Dutch began to gain control over the forests in the eighteenth century, they tried to make
the Kalangs work under them. In 1770, the Kalangs resisted by attacking a Dutch fort at Joana, but the uprising
was suppressed.
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KEYWORDS
Sleepers: Wooden planks laid across railway tracks.

I Yol T TeRAT 9 oTahsl & ded f§aT av|

Deforestation: Disappearance of forests or cutting down of trees.

delleHcleT: il T ST BT IT IST T HIcaT|

Shifting Cultivation: It is a type of cultivation in which parts of the forests are cleared. After the trees have been
cut, they are burnt to provide ashes. The seeds are then scattered in the area and left to be irrigated by the rain.

TUTATHT Well: TE Teh FohR T Well & TSTE Siarelt & o TGEET bl A1t o1 STTelT &1 98T 1 Fhiee o dle,
3og STl TW HY [T ST & | 3T d1G dioii r &17 H fouR fear srar g ik s a Rag & ov o
fe=ar SrarT &1

Criminal Tribes: Pastoralist and nomadic communities were labelled as criminal tribes because they stole wood
from the forests.
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Scientific Forestry: A system of cutting trees controlled by the forest department, in which old trees are cut and
new ones planted.
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1) The railway network expanded rapidly in India from the

(a) 1820s

(b) 1830s

(c) 1850s

(d) 1860s

Ans- (d) 1860s
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(s 1830




Ans- (a) Java

5) ST oY SSIARIAT # el Yallel hgl & Y& fohaT?
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6) The Kalangs resisted the Dutch in
(@)1700

(b)1750

(€)1770

(d) 1800
Ans- (c) 1770
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Q.7. After the Forest Act was enacted in 1865, it was amended twice, once in 1878 and then in 1927.This
ststement is true or false

a.True

b.False
ANSWER-True

gt 7. 1865 H deT HIATATH el & &1, STH &F IR AT fhIT 31T, Ueh IR 1878 H 3K T 1927 H| I8
U T g AT 3TT
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8) A British administrator, -------------- killed 400 tigers.
(a) David Spurr

(b) E.P. Stebbing

(c) George Bush

(d) George Yule,

Ans- (d) George Yule

8) Teh Teifeer TeMmeh of -400 STl &l AR STelT|
(T) 3fag TR
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Q.2.Name the categories of forests under the 1878 Forest Act.
Answer:

Reserved forests.

Protected forests.

Village forests.

UQaT 2. 1878 & IeT ITATAIH & dgd =il T ATOIT & AT SATU|
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Q.3. What were forest villages?

Answer:

The villages which were allowed to stay on in the reserved forests on the condition that worked free for the
forest department in cutting and transporting trees, and protecting the forest from fires were called the forest
villages.

YaT 3. TeT UTH T A?
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Q.4. What were the result of the Bastar rebellion?

Answer:

I.Work on reservation was temporarily suspended.

I1.Area to be reserved was reduced to roughly half of that planned before 1910.
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1) Why did the people of Bastar rise in revolt against the British ?

Answer:

1.They revolted because the British Government tried to reserve the forests which deprived the people of their
rights to collect forest products and to practise shifting cultivation.

2.Moreover, people were suffering from increased land rents and frequent demands for free labour and goods by
colonial officials.

3.People of Bastar cannot collect forest products.

4.The terrible famines of 1839-1900 and 1907-1908 forced them to revolt against British authorities.
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Q.4.How did the Forest Act affect the life of the villagers across the country?

ANSWER-

I.The enactment of of the Forest Act gave way to a very difficult life for the villagers.

I1. After the Act, all their everyday practices — cutting wood for their houses, grazing their cattle, collecting fruits
and roots, hunting and fishing — became illegal.

I11. People were now forced to steal wood from the forests, and if they were caught, they were at the mercy of
the forest guards who would take bribes from them.

IV.Women who collected fuelwood were especially worried. It was also common for police constables and
forest quards to harass people by demandina free food from them.
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Q.5.SOURCE BASED QUESTION
Answer the questions given below




FIVE MARKS QUESTION
1.Q.What are the similarities between colonial management of the forests in Bastar and Java?
The similarities between colonial management of the forests in Bastar and Java were :

I.Forest laws were enacted in Java and Bastar.

I1.These laws restricted villagers” access to forests.

I11. Timber could be cut from only specified forests and under close supervision.

IV.Villagers were punished for entering forests and collecting forest products without a permit.

V.Permits were issued to the villagers for entry into forests and collection of forest products.

VI1.Both had a forest service.

V11.Both followed a system of forestry which was known as scientific forestry.

VIILIn both places, Forest Acts meant severe hardship for villagers. Their everyday practices — cutting wood for their
houses, grazing their cattle, collecting fruits and roots, hunting and fishing became illegal.

IX.Constables and forests guards began to harass people.
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2.Q.Why are forests affected by wars?

ANSWER-The First World War and the Second World War had a major impact on forests.

I.In India, working plans were abandoned at this time, and the forest department cut trees freely to meet British
war needs.

IL.In Java, just before the Japanese occupied the region, the Dutch followed ‘a scorched earth’ policy, destroying
sawmills, and burning huge piles of giant teak logs so that they would not fall into Japanese hands.

I11.The Japanese then exploited the forests recklessly for their own war industries, forcing forest villagers to cut
down forests.

IV.Many villagers used this opportunity to expand cultivation in the forest. After the war, it was difficult for the
Indonesian forest service to get this land back.

V. As in India, people’s need for agricultural land has brought them into conflict with the forest department’s
desire to control the land and exclude people from it.



On the Plateaus, Plains and Deserts

Dhangars were an important pastoral
community of Maharashtra.

In Karnataka and Andhra Pradesh

The Gollas herded cattle. The Kurumas
and Kurubas

Banjaras were yet another well-known
group of graziers. They were to be
found in the villages of Uttar Pradesh,
Punjab, Rajasthan, Madhya Pradesh and
Maharashtra

In the deserts of Rajasthan lived the
Raikas.

Colonial Rule and Pastoral Life

Under colonial rule, the life of pastoralists changed dramatically.Their grazing grounds shrank, their movements
were regulated, and the revenue they had to pay increased.

First, the colonial state wanted to transform all grazing lands into cultivated farms. Land revenue was one of the
main sources of its finance. By expanding cultivation it could increase its revenue collection.

Second, by the mid-nineteenth century, various Forest Acts were also being enacted in the different provinces.
Through these Acts some forests which produced commercially valuable timber like deodar or sal were declared
‘Reserved’. No pastoralist was allowed access to these forests. Other forests were classified as ‘Protected’. In
these, some customary grazing rights of pastoralists were granted but their movements were severely restricted.
Third, British officials were suspicious of nomadic people. They distrusted mobile craftsmen and traders who
hawked their goods in villages, and pastoralists who changed their places of residence every season, moving in
search of good pastures for their herds. The colonial government wanted to rule over a settled population. They
wanted the rural people to live in villages, in fixed places with fixed rights on particular fields. Such a population
was easy to identify and control. Those who were settled were seen as peaceable and law abiding; those who
were nomadic were considered to be criminal.

Fourth, to expand its revenue income, the colonial government looked for every possible source of taxation. So
tax was imposed on land, on canal water, on salt, on trade goods, and even on animals. Pastoralists had to pay
tax on every animal they grazed on the pastures. In most pastoral tracts of India, grazing tax was introduced in
the mid-nineteenth century. The tax per head of cattle went up rapidly and the system of collection was made
increasingly efficient

How Did these Changes Affect the Lives of Pastoralists?

These measures led to a serious shortage of pastures . As pasturelands disappeared under the plough, the existing
animal stock had to feed on whatever grazing land remained. This led to continuous intensive grazing of these
pastures.

How Did the Pastoralists Cope with these Changes?

Pastoralists reacted to these changes in a variety of ways. Some reduced the number of cattle in their herds, since
there was not enough pasture to feed large numbers. Others discovered new pastures when movement to old
grazing grounds became difficult.

Over the years, some richer pastoralists began buying land and settling down, giving up their nomadic life. Some
became settled peasants cultivating land, others took to more extensive trading. Many poor pastoralists, on the
other hand, borrowed money from moneylenders to

survive. At times they lost their cattle and sheep and became labourers, working on fields or in small towns
Pastoralism in Africa

Africa where over half the world’s pastoral population lives. Even today, over 22 million Africans depend on
some form of pastoral activity for their livelihood. They include communities like Bedouins, Berbers, Maasal,
Somali, Boran and Turkana. Most of them now live in the semi-arid grasslands or arid deserts where rainfed
agriculture is difficult. They raise cattle, camels, goats, sheep and donkeys; and they sell milk, meat, animal skin
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Q.1.Raika pastoral community belongs to:
(a) Himachal Pradesh

(b) Rajasthan

(c) Jammu and Kashmir

(d) Maharashtra

ANS-(b) Rajasthan

13RI SETCT THET & FEad &
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(#) STFA 3R FHHAR

(1) FERTSE

ANS-(b) T=TEATT

Q.2. When did a severe drought take place, killing over half the cattle in the Maasai Reserve?
(a) 1900

(b) 1933 and 1934

(c) 1945

(d) 1946 and 1947

ANS-(b) 1933 and 1934
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Q.6.What are Bugyals?

(a) They are wastelands

(b) Pastures in the mountain’s foot area

(c) Pastures above 12000 feet high mountains

(d) They are deserts

ANS-(c) Pastures above 12000 feet high mountains
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ANS-(c) 12000 HTE 3 UgTST & FUR ARG

7. Which seasonal movements affect the Dhangars of Maharashtra?
(a) Cold and snow

(b) Climatic disturbance

(c) Drought and flood

(d) Alternate monsoon and dry seasons

ANS-(d) Alternate monsoon and dry seasons
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8.Who are Bhotiyas, Sherpas and Kinnaris?
(a) Pastoral community of Africa

(b) Cattle herders of Rajasthan

(c) Shepherd community of Maharashtra

(d) Pastoral communities of the Himalayas
ANS- Pastoral communities of the Himalayas
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ANS- TRHATer & CETcll THeT
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3. What are bugyals?

ANSWER-Bugyals are vast natural pastures on the high mountains, about 12,000 feet. After April the entire
mountainside is covered with a variety of grasses, roots and herbs. By monsoon these pastures are covered with
thick vegetation and wild flowers.
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4.Why were the Dhangars welcomed by the Konkani peasants?

ANSWER-After the kharif crops were harvested, the field had to be fertilised for the rabi crops. Dhangar flocks
manured the fields and fed on the stubble. Dhangars were also given supplies of rice which they supplied to the
plateau where arain was scarce.
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THREE MARKS QUESTION

Q.1.Explain any three different livelihood practices adopted by the pastoralists in the 20th century, as they left
their traditional occupations.

ANSWER-Three livelihood practices adopted by the pastoralists in the 20th century were as follows:

(a) Richer pastoralists started buying land and settling down, giving up their nomadic life.

(b) Some became settled peasants cultivating land.

(c) Others took to tradina.
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Q.2.Describe the lifestyle of the Gujjar Bakarwals of Jammu and Kashmir.

Answer-Gujjar Bakarwals of Jammu and Kashmir are herders of goat and sheep. They move between their
winter and summer grounds. In winters when the ground is covered with snow, they live with their herds in the
Siwalik range. The herds feed on the dry scrub forests, By April, they start moving to their summer grazing
grounds. After crossing the Pir Panjal passes they reach the Kashmir valley. With the onset of summer, the snow
has melted, and the valley is covered with variety of flowers and grasses. They provide nutritious forage for the
animals. By the end of September they come back to their winter homes in the Siwalik.
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Q.5.Why were the chiefs appointed by the British not affected by war or drought in Maasai land?
ANSWER-The chiefs appointed by the colonial government often accumulated wealth over time. They had a
regular income with which they could buy animals, goods and land.

They lent money to poor neighbours who needed cash to pay taxes. Many of them began living in towns, and
became involved in trade. Their wives and children stayed back in the villages to look after the animals.

These chiefs managed to survive the devastations of war and drought. They had both pastoral and non-pastoral
income, and could buy animals when their stock was depleted.
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FIVE MARKS QUESTION
Q.1.Why the colonial government in India brought in the Criminal Tribes Act?Explain how the law changed the
lives of Pastoralists.
ANSWER-

British officials were suspicious of nomadic people. They distrusted mobile craftsmen and traders who hawked
their goods in villages, and pastoralists who changed their places of residence every season, moving in search of
good pastures for their herds.
The colonial government wanted to rule over a settled population. They wanted the rural people to live in
villages, in fixed places with fixed rights on particular fields. Such a population was easy to identify and control.
Those who were settled were seen as peaceable and law abiding; those who were nomadic were considered to be
criminal.

In 1871, the colonial government in India passed the Criminal Tribes Act. By this Act many communities of
craftsmen, traders and pastoralists were classified as Criminal Tribes.
They were stated to be criminal by nature and birth. Once this Act came into force, these communities were
expected to live only in notified village settlements. They were not allowed to move out without a permit. The
village police kept a continuous watch on them.
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CHAPTER -1 India- Size and Location

Location

India is lying entirely in the Northern hemisphere, as shown in the figure below.

The land extends between latitudes 8°4’N and 37°6’N and longitudes 68°7’E and 97°25’°E.
The Tropic of Cancer (23° 30°N) divides India into almost two equal parts.

Size

India’s total area accounts for about 2.4% of the total geographical area of the world. Thus, it is the 7th largest
country in the world, by its size.

India has a land boundary of about 15,200 km.

The total length of the coastline of the mainland is 7,516.6 km including Andaman and Nicobar and
Lakshadweep.

Time along the Standard Meridian of India (82°30°E) passing through Mirzapur (in Uttar Pradesh) is taken as the
standard time for India.

India and the World

The Indian landmass has a central location between the East and West Asia. India is a southward extension of
the Asian continent. The trans-Indian Ocean routes connect the countries of Europe in the West and the countries
of East Asia. No other country has as long a coastline on the Indian Ocean as India has. India’s contacts with the
World have continued through the ages. The spices, muslin and other merchandise were taken from India to
different countries. On the other hand, the influence of Greek sculpture, and the architectural styles of domes and
minarets from West Asia can be seen in different parts of India.

India’s Neighbours

India has 29 states and seven Union Territories. India shares its land boundaries with:

Pakistan and Afghanistan in the northwest

China (Tibet), Nepal and Bhutan in the north

Myanmar and Bangladesh in the east

The southern neighbours across the sea consist of the two island countries, Sri Lanka and Maldives. India has
had strong geographical and historical links with her neighbours.
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Question 5.

Which is the smallest state in India?

Answer: Goa

Question 6.

The north-south extent of India is about

Answer: 3,214 km

Question 7.

Which states does not share any international boundary?

Answer: Madhya Pradesh

Question 8.

Which canal has reduced India’s distance from Europe by 7,000 km?
Answer: Suez Canal

Question 9.

What influences the duration of the day and night as one moves from south to north?
Answer: Latitudinal extent

Question 10.

Which ocean has been named after a country?

Answer: Indian Ocean
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have provided passages to the ancient travelers. The spices, muslin and other merchandise’ were taken from
India to different countries through these passes. Mountain passes have contributed in the exchange of ideas and
commodities since historic times.

Question 7.

What is the latitudinal extent of India? How is the latitudinal spread in India advantageous to her?

Answer: The latitudinal extent of India lies between 8°4” N and 37°6” N. This means that the longitudinal
expanse is about 30° from west to east.

The advantages of longitudinal spread are :

(@) It influences the duration of the day and night as one moves from South to North.

(b) It also helps to take advantage of the Indian Ocean, the Arabian Sea on the west and the Bay of Bengal on its
east for sea movements.

Question 8.

Why do the days and nights are almost of equal duration at Kanniyakumari?

Answer: Kanniyakumari in Tamil Nadu is located at the southernmost tip of India’s main land. The latitude 8°4°
N passes close to it. The place is thus near the equator and lies close to the Equatorial region. As the sun shines
directly over the Equator throughout the year, the durations of day and night are almost equal here. Hence, in
Kanniyakumari, the difference in the duration of day and night is very little.

Question 9.

Why Is the knowledge of latitude and longitude important for people?

Answer: The knowledge of latitude and longitude is important for people because it helps them to understand
and locates the geographical location and globe better. The use of latitudes and longitudes offer a better and
quick grasp of geographical facts.

It determines the time zones of the different regions of the world. With the help of longitudes and latitudes, it is
easy to calculate local time and standard time. Longitudes and latitudes also help in calculating the distance from
one place to another

Question 10.

What do you know about the neighbours of India?

Answer: India occupies an important strategic position in South Asia. India shares its land boundaries with
Afghanisatan and Pakistan in the northwest; China, Nepal and Bhutan in the north and Myanmar and Bangladesh
in the east. The island states of Sri Lanka and Maldives are our southern neighbours across the sea. Sri Lanka is
separated from India by a narrow channel of sea formed by the Palk Strait and the Gulf of Manner, while
Maldives Islands are situated to the South of the Lakshadweep Islands. Pakistan, Nepal, Bhutan, Bangladesh and
India form the most natural geographical unit, often referred to as the Indian subcontinent.
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5 Marks Questions and Answers

Question 1.

How has the long coastline been beneficial to India?

Answer:

The Arabian Sea and the Bay of Bengal, extensions of the Indian Ocean, lie to the west and east of Indian
Peninsula, and the Indian Ocean lies to its south. The total length of the coastline of the main land of India
including Andaman and Nicobar and Lakshadweep is 7516.6 km. The long coastline of India has helped in
maritime trade since ages. The central location of India at the head of the Indian Ocean has provided it a strategic
location along the trans-Indian Ocean routes. India can establish close contact with West Asia, Africa and
Europe from western coast and with Southeast and East Asia from the eastern coast. The long coastline has also
played a major role in influencing the climate of India. It provides opportunities for fishing and extraction of
petroleum. It serves as a natural boundary protecting India.




Answer: The major island groups lying in the Arabian Sea are the Lakshadweep group. It consists of many small
islands located opposite to Kerala coast in the Arabian Sea.

Features:

It is composed of small coral islands that cover a small area of 32 square kilometres. Kavaratti Island is its
administrative headquarters.

It has great diversity of flora and fauna.

Lakshadweep consists of 11 islands.

Most of the area is cultivated with coconut.

A bird sanctuary is located in Pity Island which is inhabited by humans.

Question 6.

List six countries of the world bigger than India. Compare the size of India with these countries.

Answer:

Russia,

Canada,

United States of America,

China,

Brazil,

Australia.

Question 7.

“India has an important position on the globe.” Justify by giving three arguments.

Answer: Central location of India is of great significance because:

India has a central location between the East and West Asia.

India is a southward extension of the Asian continent.

The Trans Indian ocean routes connect the countries of Europe in the West and the countries of East Asia.
Deccan Peninsula protrudes into the Indian Ocean and help India to have contact with West Asia, Africa and
Europe from West Coast and with South East and East Asia from Eastern Coast.

India’s eminent position in Indian Ocean justifies naming of an ocean after it.

Question 8.

How is India’s geographical location favourable for international trade?

Answer:

Due to its central location at the head of the Indian Ocean, countries of East Africa, West Asia, South and South-
East Asia, and East Asia could be reached through sea routes.

Unlike landlocked countries (surrounded by land on all sides), it has an easy access to the outside world. The
ocean routes from East and South-East Asia, and Australia to Africa, and Europe pass through the Indian Ocean.
India is connected with Europe, North America and South America through both the routes-the Cape of Good
Hope and the Suez Canal.

India can also reach Canada and USA through the Strait of Malacca after crossing the Pacific Ocean.

India is favourably located on the world’s highway of trade and commerce both to the east and the west.

Question 9.

“India has a long coastline which is advantageous”. Explain.

Answer:

India has the longest coastline on the Indian Ocean. This long coastline (7,517 km) has given a tremendous boost
to India’s maritime trade. Almost 90% of India’s international trade is carried on through sea.

India has this long coastline mainly due to the Deccan peninsula extending into the Indian Ocean and dividing it
into two water bodies, viz., the Arabian Sea and the Bay of Bengal.

India’s central location at the head of the Indian Ocean and its long coastline have much helped in its interaction
through the sea. The sea routes passing through the ocean provide easy connectivity to India with the West and
the East.

India has developed many major ports on its western and the eastern coasts. Some of them, such as Mumbai,
Kochi, Vishakhapatnam etc., have become centres of India’s flourishing shipping industry.

This long coastline on the Arabian Sea and the Bay of Bengal has helped India to establish close maritime
contacts in the following ways:
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CHAPTER -2 Physical Features of India

Description

India has all major physical features of the earth, i.e., mountains, plains, deserts, plateaus and islands. The land
of India displays great physical variation. Geologically, the Peninsular Plateau constitutes one of the ancient land
masses on the earth’s surface. The Himalayas and the Northern Plains are the most recent landforms. The
northern plains are formed of alluvial deposits.

Key Points

Major Physiographic Divisions
The Himalayan Mountains
The Northern Plain

The Peninsular Platea

The Central Highland

The Deccan Plateau

The Indian Desert

The Coastal Plains

The Islands



the largest. Plate thickness also varies greatly, ranging from less than 15 km for young oceanic lithosphere to
about 200 km or more for ancient continental lithosphere.

Question-2

Distinguish Between Bhangar and Khadar

Solution:

Bhangar:

The largest part of the northern plain is formed of older alluvium They lie above the flood plains of the rivers
and present a terrace-like feature. This part is known as bhangar.

Khadar:

The soil in this region contains calcareous deposits locally known as kankar. The newer, younger deposits of the
flood plains are called khadar. They are renewed almost every year and so are fertile, thus, ideal for intensive
agriculture.

Question-3

Describe how the Himalayas were formed.

Solution:

The Himalayas and the Northern Plains are the most recent landforms. From the viewpoint of geology,
Himalayan Mountains form an unstable zone. The whole mountain system of Himalaya represents a very
youthful topography with high peaks, deep valleys and fast flowing rivers. The northern plains are formed of
alluvial deposits. The peninsular plateau is composed of igneous and metamorphic rocks with gently rising hills
and wide valleys.

Question- 4

5. Which are the major physiographic divisions of India? Contrast the relief of the Himalayan region with that of
the Peninsular plateau.

Ans: The major physiographic divisions of India are:

The Himalayan Mountains

The Northern Plains

The Peninsular Plateau

The Indian Desert

The Coastal Plains

The Islands

Question- 5

How long and wide are the Himalayas?

Answer:

The Himalayan region extends along the north of India. The Himalayas are the longest and the highest mountain
range in the world. The Himalayas are 2400 km long, 400 to 150 km wide from Kashmir to Arunachal Pradesh
respectively.

Question- 6

Which range of the Himalayas has hill stations?

Answer:

The lower ranges or the Lesser Himalayas have beautiful hill stations such as Srinagar, Shimla, Mussoorie,
Nainital and Darjeeling. Many people visit these hill stations in summer, because these places are cooler than the
plains.

Question- 7

Which are the three main ranges of the Himalayas?

Answer:

The Himalayas have three ranges which run almost parallel to each other. The distance between these ranges is
wider in the west and becomes narrow in the east.

These ranges are—

the Outer Himalayas or the Shiwalik Range

the Middle Himalayas or the Himachal Range and

the Inner or Great Himalayas or the Himadri.

Question- 8



Solution:

The northern plain has been formed by the interplay of the three major river systems, namely— the Indus, the
Ganga and the Brahmaputra along with their tributaries. This plain is formed of alluvial soil. The deposition of
alluvium in a vast basin lying at the foothills of the Himalaya over millions of years, formed this fertile plain. It
spreads over an area of 7 lakh sq. km. The plain being about 2400 Km long and 240 to 320 Km broad is a
densely populated physiographic division. With a rich soil cover combined with adequate water supply and
favourable climate, it is agriculturally a very productive part of India

The rivers in their lower course split into numerous channels due to the deposition of silt. These channels are
known as distributaries. The Northern Plain is broadly divided into three sections. The Western part of the
Northern Plain is referred to as the Punjab Plains. Formed by the Indus and its tributaries, the larger part of this
plain lies in Pakistan. The Indus and its tributaries—the Jhelum, the Chenab, the Ravi, the Beas and the Satluj
originate in the Himalaya. This section of the plain is dominated by the doabs.

Question-3

Which are the major physiographic divisions of India? Contrast the relief of the Himalayan region with that of
the Peninsular plateau.

Solution:

The physical features of India can be grouped under the following physiographic divisions:

The Himalayan Mountains

The Northern Plains

The Peninsular Plateau

The Indian Desert

The Coastal Plains

The Islands

The Himalaya consists of three parallel ranges in its longitudinal extent. A number of valleys lie between these
ranges. The northernmost range is known as the Great or Inner Himalayas or the ‘Himadri’. It is the most
continuous range consisting of the loftiest peaks with an average height of 6,000 metres. It contains all the
prominent Himalayan peaks.

The Deccan Plateau is a triangular landmass that lies to the south of the river Narmada. The Satpura range flanks
its broad base in the north while the Mahadev, the Kaimur hills and the Maikal range form its eastern extensions.
Locate these hills and ranges in the physical map of India. The Deccan Plateau is higher in the west and slopes
gently eastwards. An extension of the Plateau is also visible in the northeast— locally known as the Meghalaya
and Karbi-Anglong Plateau. It is separated by a fault from the Chotanagpur Plateau. Three Prominent hill ranges
from the west to east are the Garo, the Khasi and the Jaintia Hills.

Question-4

Distinguish Between the Western Ghats and the Eastern Ghats

Solution:

Western Ghats:

The Western Ghats are higher than the Eastern Ghats. Their average elevation is 900— 1600 metres as against
600 metres of the Eastern Ghats. The Western Ghats cause orographic rain by facing the rain bearing moist
winds to rise along the western slopes of the Ghats. The Western Ghats are known by different local names. The
height of the Western Ghats progressively increases from north to south. The highest peaks include the Anai
Mudi (2,695metres) and the Doda Betta (2,637 metres).

Eastern Ghats:

The Eastern Ghats stretch from the Mahanadi Valley to the Nigiris in the south. The Eastern Ghats are
discontinuous and irregular and dissected by rivers draining into the Bay of Bengal. Mahendragiri (1,501 metres)
is the highest peak in the Eastern Ghats. Shevroy Hills and the Javadi Hills are located to the southeast of the
Eastern Ghats.

Question- 5

(@) Short note on The Indian Desert

Ans. (a) The Indian desert lies to the west of the Aravali hills. It is an uneven sandy plain covered with sand
dunes.

(b) Barchans (crescent-shaped sand dunes) cover a larger part of the desert. Near the Indo-Pakistan border,
longitudinal sand dunes are more common.

(c) It has arid climate with scarce vegetation and rainfall below 150 mm per year.



The land of this plain is soft, levelled and flat. Therefore, wells, tubewells and canals can be dug for irrigation.
Due to proper irrigation, it is the largest producer of foodgrains in india.

This plain gets sufficient rainfall. There are many rivers, streams and lakes. There is also rich vegetation. These
factors affect the climate. The climate of the Northern Plains is very cold in winter and very hot in summer.
This is one of the most thickly populated plain of the world. The most thickly populated states of India, Uttar
Pradesh and Bihar, lie in this plain.

Question- 10

Write in detail about the Himalayan mountains.

Answer:

The Himalaya mountains lie between the Indus river and the Brahmaputra river which covers a distance of about
2,400 kilometres. They consist of three parallel ranges-the Himadri, the Himachal and the Shiwaliks from north
to south. The Himadri or the Great Himalayas is the highest of all with an average height of more than 6,000
metres above sea level. It contains some of the world’s highest peaks, such as Mt. Everest in Nepal (8,848 metres
high, the highest peak in the world), Kanchanjunga, Nanga Parbat, Nanda Devi, Dhaulagiri, Makalu and
Annapurna. Kanchenjunga (8,598 metres) in Sikkim is the highest peak of the Himalayas in India.

To the south of the Himadri is the Himachal, also called the Middle or Lesser Himalayas. The range is mainly
composed of highly compressed and altered rocks. The altitude varies between 3,600 and 4,500 metres and the
average width is of 50 km. Many important hill stations such as Shimla, Manali, Kullu, Mussourie, Nainital and
Darjeeling are situated in the Himachal range.

The southern-most range, which is rather discontinuous, is the Shiwalik. The extend over a width of 10-50 km
and have an altitude varying between 900 and 1100 metres. There are a number of broad longitudinal valleys
called duns, especially in the Kumaon Himalayas of Uttarakhand. Dehradun is situated in one such valley. There
are many passes like the Shipki La, Nathu La and the Bomdi La in the Himalayas.

CHAPTER -3 Drainage

Description

The term drainage describes the river system of an area. Small streams flowing from different directions come
together to form the main river, which ultimately drains into a large water body such as a lake or a sea or an
ocean. Drainage will help you to understand the drainage system in India. At the end of the chapter, you will also
learn about lakes, their importance, role of rivers in the economy and river pollution.

The area drained by a single river system is called a drainage basin. Any elevated area, such as a mountain or an
upland which separates two drainage basins is known as a water divide.

Drainage Systems in India

The Indian rivers are divided into two major groups:

The Himalayan rivers

The Peninsular rivers

The Himalayan Rivers

The major Himalayan rivers are the Indus, the Ganga and the Brahmaputra. A river along with its tributaries may
be called a river system.

1) The Indus River System

2) The Ganga River System

3) The Brahmaputra River System

The Peninsular Rivers

The main water divide in Peninsular India is formed by the Western Ghats. Most of the major rivers of the
Peninsula, such as the Mahanadi, the Godavari, the Krishna and the Kaveri flow eastwards and drain into the
Bay of Bengal. These rivers make deltas at their mouths. The Narmada and the Tapi are the only long rivers,
which flow west and make estuaries.

1) The Narmada Basin

2) The Tapi Basin

3) The Godavari Basin

4) The Mahanadi Basin



The coastal plains between Western Ghats and the Arabian Sea are very narrow. Hence, the coastal rivers are
short. The main west flowing rivers are Sabarmati, Mahi, Bharathpuzha and Periyar.
Question 2.

Write the salient features of the Ganga-Brahmaputra delta.

Answer: The salient features of the Ganga-Brahmaputra delta are :

It is the largest delta of the world on the mouth of the Bay of Bengal.

This has formed owing to split of the Ganges and the Brahmaputra in several rivulets i.e., distributaries.
Its lower portion is marshy owing to mess up of the sea and the freshwater together.

It is the most fertile and densely populated delta.

Question 3.

What are the major sources of river pollution?

Answer: The major source of river pollutants are :

A heavy load of untreated sewage and industrial effluents are emptied into the river.
The leakage of oil from ships.

Excessive use of pesticides and chemical fertilisers.

Question 4.

Why are the Peninsular rivers not navigable?

Answer: Peninsular rivers are not navigable because :

These all are seasonal rivers and generally dries up in summer.

River beds are uneven, rocky and have sharp slopes.

Construction of dams is difficult as a result of which navigation is not possible.
Question 5.

Describe some specific characteristics of the Brahmaputra river system.

Answer: Some specific characteristics of the Brahamputra river system are :

It originates from Tibet and is slightly longer than the Indus.

It carries huge amount of silt.

It flows parallel to the Himalayan Mountains in Tibet.

It takes a ‘U’ turn at Namcha Barwa (height 7757 mts.) and enters Arunachal Pradesh.

Question 6.

Which basin rises in the range of the Western Ghats.

Answer:

The Kaveri rises in the Brahmagri range of the Western Ghats and it reaches the Bay of Bengal in sojith of
Cuddalore, in Tamil Nadu.

The total length of the river is about 760 km.

Its main tributaries are Amravati, Bhavani, Hemavati and Kabini. Its basin drains parts of Karnataka, Kerala and
Tamil Nadu.

Question 7.

Why are most of the freshwater lakes found in the Himalayan region?

Answer: Most of the freshwater lakes are found in the Himalayan region. They are of glacial origin. In other
words, they are formed when glaciers dug out a basin, which was later filled with snowmelt. The Wular lake in
Jammu and Kashmir, in contrast, is the result of the tectonic activity. It is the largest freshwater lake in India.
The Dal lake, Bhimtal, Nainital, Loktak and Barapani are some other important freshwater lakes.

Question 8.

What is drainage and drainage basin?

Answer: Drainage: The term ‘drainage means the river system of an area. It is a system of flowing water from
the higher level to the lower level. Drainage Basin : Some small streams flowing from different directions come
together to form the main river, which ultimately drains into a large water body such as a lake or a sea. The area
drained by a single river system is called a drainage basin.

Question 9.

Name the three Himalayan river systems. Give two tributaries of each.

Answer: Three Himalayan river systems are :

The Indus river system



Ganga enters the plains from the Himalayas at Haridwar. It is joined by a large number of tributaries from the
north. Among them the Ghaghara, the Gandak, and the Kosi enter the northern plains of India from Nepal. They
are the rivers, which flood parts of the northern plains every year, causing widespread damage to life, whereas,
they enrich the soil for agricultural use. These rivers have tremendous potential to generate waterpower and to
irrigate lands both in Nepal and India. By mutual trust and cooperation, the sharing of river water for
developmental purposes can used in prosperity to the people of both the countries. The main tributaries, which
come from the peninsular uplands, are

the Chambal, the Betwa and the son. The length of the Ganga is over 2,500 km. In India, it has the largest basin.
The Ganga river system drains most of north India.

Question 4.

Write a note on the Brahmaputra Drainage System.

Answer:

The river Brahmaputra rises in Tibet, east of the Mansarowar lake. The river flows eastwards parallel to the
Himalayas in its upper course. It is known as Tsang Po in Tibet. It carries smaller volume of water and less silt in
Tibet as it is a cold and a dry area.

The river takes a U-turn bend at Namcha Barwa (7757 m) and enters India in Arunachal Pradesh through a
gorge. In Arunachal Pradesh, it is known as Dihang. Here, it is joined by the Dibang, the Lohit, the Kenula and
many other tributaries. The volume of the river increases here, and it is known as the Brahmaputra in Assam.
The region receives heavy rainfall during the monsoon which increases the volume of water and silt content of
the river. Devastating floods are caused by the river in Assam and Bangladesh every year during the rainy
season. The deposition of the silt in the riverbed due to the heavy load, leads to the formation of braided
channels intervened by riverine islands.

The Brahmaputra has a braided channel in its entire length in Assam. Many riverine . islands like the Majuli, the
world’s largest riverine island, are formed in between the channels. The Brahmaputra is known as Jamuna in
Bangladesh.

Question 5.

In what different ways do rivers get polluted?

Answer: Rivers get polluted in the following ways :

The growing domestic, municipal, industrial and agricultural demand for water from rivers naturally affects the
quality of water.

The volume of river is also reduced because more and more water is being drained out of the rivers.

A heavy load of untreated sewage and industrial effluents are emptied into the rivers. This affects not only the
quality of water but also the self-cleansing capacity of the river.

The increasing urbanisation and industrialisation also contribute to the river pollution.

Dumping of garbage into the streams is another cause of river pollution. They are changing the life-giving rivers
into toxic streams.

Question 6.

Write a short note on National River Conservation Plan (NRCP).

Answer: The river cleaning programme in the country was initiated with the launching of the Ganga Action Plan
(GAP) in 1985. The Ganga Action Plan was expanded to cover other rivers under the National River
Conservation Plan (NRCP) in the year 1995. The objective of the NRCP is to improve the water quality of the
rivers, which are major water sources in the country, through the implementation of pollution abatement work.
Question 7.

How does the trellis and rectangular patterns of drainage develop?

Answer:

Trellis patterns : In the trellis pattern of drainage, the tributaries join the main river at approximately right angles
and make it look like a rectangular arrangement. It develops where hard and soft rocks exist parallel to each
other.

Rectangular patterns : This drainage pattern develops on a strongly jointed rocky terrain Trellis Drainage.
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Pressure and surface winds

Upper air circulation

Western cyclonic disturbances and tropical cyclones
The Indian Monsoon

The Onset of the Monsoon and Withdrawal

The Seasons

4 main seasons can be identified in India:

The cold weather season (Winter)

The hot weather season (Summer)

The advancing monsoon (Rainy Season)

The retreating monsoon with some regional variations (Transition Season)
Distribution of Rainfall

Monsoon as a Unifying Bond

Questions and Answers

1 Mark Questions and Answers

Question 1.

What is climate?

Answer: The climate refers to the sum total of weather conditions and variations over a large area for a long
period of time.

Question 2.

What is weather?

Answer: ‘Weather’ refers to the state of the atmosphere over an area at any point of time.
Question 3.

Name the. elements of weather and climate.

Answer: Temperature, atmospheric pressure, wind, humidity and precipitation.

Question 4.

What does ‘monsoon’ imply?

Answer: The word, ‘monsoon’ comes from the Arabic word’ mausim’ which means season. It implies a seasonal
reversal in the wind direction throughout the year.

Question 5.

Which are the rainiest months of India?

Answer: June to September

Question 6.

Name the month in which the withdrawal of monsoon begins.

Answer: September

Question 7.

Which region of India receives most of its rainfall in winter?

Answer: Tamil Nadu coast.

Question 8.

Name the two branches of the monsoon.

Answer: The Arabian Sea branch.

The Bay of Bengal branch.

Question 9.

What is burst of monsoon?

Answer:Around the time of its arrival, the normal rainfall increases suddenly and continues constantly for
several days. This is known as the ‘burst’ of the monsoon.

Question 10.

Name two coldest areas in India.

Answer:Dras and Kargil (Temperature — 40°C)




Question 6.

What do you know about rainfall distribution in India?

Answer: Rainfall distribution is unequal in our country. Parts of western coast and northeastern India receive
over about 400 cm of rainfall annually. However, it is less than 60 cm in western Rajasthan and adjoining parts
of Gujarat, Haryana and Punjab. Rainfall is equally low in the interior of the Deccan plateau, and east of the
Sahyadris.

A third area of low precipitation is around Leh in Jammu and Kashmir. The rest of the country receives moderate
rainfall. Snowfall is restricted to the Himalayan region.

Question 7.

Why do the Western Ghats receive more rainfall than the Eastern Ghats?

Answer: In terms of relief, the Western Ghats are much higher in comparison to the Eastern Ghats. The Western
Ghats are continuous stretches of high mountains.

Therefore, when the moisture-laden Arabian Sea branch of Southwest Monsoon first strikes the Western Ghats,
it brings heavy rainfall along the windward side of the Western Ghats. In Eastern Ghats, rain, bearing winds of
Southwest Monsoon do not face such orographic barrier and hence-receive much lower amount of rainfall.

Question 8.

Explain In brief :

Burst of the Monsoon

Inter Tropical Convergence Zone (ITCZ)

Answer:

Burst of the Monsoon : The duration of the monsoon is between 100-120 days from early June to mid-
September. Around the time of its arrival, the normal rainfall increases suddenly and continues constantly for
several days. This is known as the ‘burst’ of the monsoon and can be distinguished from the pre-monsoon
showers.

Inter Tropical Convergence Zone : The Inter Tropical Convergence Zone (ITCZ,) is a broad trough of low
pressure in equatorial latitudes. This is where the northeast and the southeast trade winds converge. This
convergence zone lies parallel to the equator but moves north or south with the apparent movement of the sun.
Question 9.

Mumbai receives more rainfall in rainy season. Why?

Answer: Mumbai receives more rainfall in rainy season from Arabian Sea branch from June to September.
Mumbai is located on the western coast which comes in the way of Arabian Sea branch. It is located on the
windward side of the Western Ghats which receives very heavy rainfall, which is more than 250 cm.

Question 10.

What is October Heat?

Answer: The months of October-November form a period of transition from hot rainy season to dry winter
conditions. The retreat of the monsoon is marked by clear skies and rise in temperature. While day temperatures
are high, nights are cool and pleasant. The land is still moist. Owing to the conditions of high temperature and
humidity, the weather becomes rather oppressive during the day. This is commonly known as ‘October heat’.
5 Marks Questions and Answers

Question 1.

Write a short note on withdrawal or retreat of monsoon.

Answer: Withdrawal or the retreat of the monsoon is a more gradual process. The withdrawal . of the monsoon
begins in northwestern states of India by early September. By mid-October, it withdraws completely from the
northern half of the peninsula. The withdrawal from the southern half of the peninsula is rapid. By early
December, the monsoon has withdrawn from the rest of the country.

The islands receive the very first monsoon showers, progressively from south to north, from the last week of
April to the first week of May. The withdrawal takes place progressively from north to south from the first week
of December to the first week of January. By this time the rest of the country is already under the influence of
the winter monsoon.

Question 2.

The western part of Rajasthan remains almost dry during southwest monsoon season. Give three reasons in




In temperature remain lower due to the Peninsular India, has moderating to influence of the oceans.

The summer months experience rising temperature and falling air pressure in the northern part of the country.
Towards the end of May, an elongated low-pressure area develops in the region extending from the Thar Desert
in the northwest to Patna and Chotanagpur plateau in the east and southeast. Circulation of air begins to set in
around this trough.

Strong, gusty, hot, dry winds, locally called ‘loo’, blow during the day over the north and northwestern India.
They may continue until late in the evening.

Dust storms are common during the month of May in Punjab, Haryana, Delhi, Eastern Rajasthan and Western
Uttar Pradesh. Sometimes, they bring light rain and pleasant cool breeze that provide temporary relief from the
heat.

Question 5.

What are the variations in precipitation in India?

Answer:

(a) There are variations not only in the form and types of precipitation but also in its amount and the seasonal
distribution.

(b) The rest of the country receives moderate rainfall. Snowfall is restricted to the Himalayan region.

(c) The annual precipitation varies from over 400 cm in Meghalaya to less than 10 cm in Ladakh and western
Rajasthan.

(d) Owing to the nature of monsoons, the annual rainfall is highly variable from year to year. Variability is high
in the regions of low rainfall, such as parts of Rajasthan, Gujarat and the leeward side of the Western Ghats.
(e) Most parts of the country receive rainfall from June to September but some parts like the Tamil Nadu coast
gets most of its rains during October and November.

Question 6.

Describe the effect of western cyclonic disturbances on the Indian climate?

Answer: The western cyclonic disturbances are weather phenomena of the winter months brought in by the
westerly flow from the Mediterranean region.

They affect the climate of India in the following ways :

By causing cyclonic rainfall in the month of winter, which is otherwise dry, the region of western cyclonic
disturbances influence the weather of the north and north-western India.

These low-pressure systems originate over the Mediterranean Sea and Western Asia and move into India,
alongwith easterly flow.

They cause the much-needed winter rains over the plains and snowfall in the mountains.

Although the total amount of winter rainfall, locally known as ‘“Mahawat’ is small, it is very useful for rabi
crops. These winds are called western cyclonic disturbances since they came from the western part of India.

Question 7.

What do you mean by Southern Oscillation?

Answer: Normally when the tropical eastern south Pacific Ocean experiences high pressure, the tropical eastern
Indian Ocean experiences low pressure. But in certain years, there is a reversal in the pressure conditions and the
eastern Pacific has lower pressure in comparison to the eastern Indian Ocean. This periodic change in pressure
conditions is known as the Southern Oscillation.

A feature connected with the SO is the EI Nino phenomenon in which a warm ocean current that flows past the
Peruvian Coast, in place of the cold Peruvian current, every 2 to 5 years. The changes in pressure conditions are
connected to the El Nino. Hence, the phenomenon is referred to as ENSO (EI Nino Southern Oscillations).
Question 8.

Write about the Arabian Sea branch of the monsoon.

Answer:

The monsoon arrives at the southern tip of the Indian peninsula generally by the first week of June.
Subsequently, it proceeds into two — the Arabian Sea branch and the Bay of Bengal branch. The Arabian Sea
branch reaches Mumbai about ten days later on approximately the 10th of June. This is a fairly rapid advance.
The onshore moisture-laden winds strike the Western Ghats and provide heavy rainfall on its windward side. As
a result, Mumbai in the windward side receives much more rainfall than Pune which is located on the leeward
side of the Western Ghats.



As these winds blow over warm oceans, they bring abundant moisture to the subcontinent. These winds are
strong and blow at an average velocity of 30 km per hour.
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India is a vast country having different types of bio-forms and is ranked the 12th mega bio-diversity country in
the world. The country has many plant species, flowering plants, nonflowering plants, species of animals and a
rich variety of fish in its fresh and marine waters.

Natural vegetation refers to a plant community, which has grown naturally without human aid and has been left
undisturbed by humans for a long time. This is termed as virgin vegetation.

The term flora is used to denote plants of a particular region or period. The species of animals are referred to as
fauna. This huge diversity in flora and fauna kingdom is due to the following factors:

Relief

Land

Soil

Climate

Temperature

Photoperiod (Sunlight)

Precipitation

Types of Vegetation

Tropical Evergreen Forests
Tropical Deciduous Forests
The Thorn Forests and Scrubs
Montane Forests

Mangrove Forests

Wildlife

Government Initiative to Protect Flora and Fauna
Questions and Answers

1 Mark Questions and Answers

Question 1.

The number of flowering plants in India is about

Answer: 15,000

Question 2.

Name two non-flowering plants.

Answer: Algae, fungi and ferns.

Question 3.

The sandy soils of desert support

Answer: Cactus and thorny bushes.

Question 4.

Sundari trees are found in

Answer: Tidal Forests

Question 5.

A very large ecosystem on land having distinct type of vegetation and animal life is called
Answer: Biome

Question 6.

At higher altitudes, mosses and lichens form part of

Answer: Tundra vegetation

Question 7.

The dry deciduous forests are found in areas having rainfall between
Answer: 100 cm and 70 cm

Question 8.

The mangrove tidal forests are found in the areas of coasts influenced by sea
Answer: Tides

Question 9.

Royal Bengal Tiger is found in :

Answer: Mangrove forests



Q1. How many types of vegetations are there in India?
Answer: there are five types of major vegetations in India
tropical evergreen forests

Tropical deciduous forests

Tropical thorn forests and scrubs

Montane forests

Mangrove forests

Question 2.

Name five bioreserves in India which have been included in the world network of biosphere reserves.
Answer:

(a) Sundarbans

(b) Nanda Devi

(c) Gulf of Mannar

(d) Nilgiris .

(e) Nokrek

(f) Great Nicobar

(9) Manas

(h) Simlipal

Question 3.

A great variety of flora is found in India. Give three geographical factors responsible for this diversification of
flora.

Answer: India has a great variety in flora because of:

(a) Varied relief of mountains, plains, plateaus and desert. They have their own different types of flora. In the
mountainous regions, wet temperate forests are found between the height of 1000-2000 m, coniferous forests are
found between 1500 and 3000 m. Trees like the pine, deodar, spruce and cedar are found. In regions of less
rainfall (less than 70 cm) and in semi-arid regions the vegetation consists of acacias, palms and cacti.

(b) In areas of heavy rainfall like the Western Ghats, which receive more than 200 cm of rainfall, tropical
evergreen forests are found.

(c) Different types of terrain and soil — like alluvial, black, red, laterite support different types of vegetation e.g.,
black soil is good for growing cotton.

Question 4.

Write the main characteristics of tropical deciduous forests.

Answer: Main characteristics of tropical deciduous forests are:

(a) They form the natural cover almost all over India, hence they are also called ‘monsoon forests’.

(b) Rainfall needed is between 75-200 cm. They are sub-divided into (/) moist deciduous (ii) dry deciduous.
Examples are sal, teak, shisham, sandalwood, bamboo, etc.

(c) Trees shed their leaves for about six to eight weeks in summer.

(d) Located on the eastern slopes of Western Ghats, Uttar Pradesh, Chattisgarh, northeastern states

Bihar, West Odisha, along the Shiwaliks and rainier pans of peninsular plateau.

(e) These forests are economically most important. They have been commercially exploited, providing the most
valuable timber and other forest products.

Question 5.

Explain ‘natural ecosystem’. Why is any attempt to tamper with the ecosystem fraught with grave risks?
Answer:

(a) An ecosystem consists of all species of plants and animals in a given area which are interdependent.

(b) It is the ecosystem which helps the man to survive and lead a comfortable life. It provides man with food,
raw material for industries and clothing. The natural resources should be used carefully so that they are not
exhausted in a short time.

(c) Ecosystem can be conserved by avoiding cutting of trees indiscriminately. Checking on rapid growth of
population, otherwise overcrowding will result in the imbalances and pollution of environment.

Question 6.
Describe the major vegetation zones of the Himalayan region.



Question 10.

Distinguish between Topical Evergreen and Deciduous Forests.

Answer: Tropical Evergreen Forests:

(a)Located in regions of heavy rainfall more than 200 cm of rainfall.,

(b) Luxuriant vegetation of all kinds, trees, shrubs and creepers. Trees reach height of 60 metres.,

(c)There is no definite time for trees to shed their leaves. These forests generally appear green all the year round.,
(d) These forests are found in Western Ghats, Assam, Tamil Nadu, Lakshadweep, Andaman and Nicobar.

(e) Some important trees of this forest are ebony, mahogany, rosewood, cinchona. Trees, shrubs and creepers
give it a multi-layered structure.,

Deciduous Forests:

(a)The Mangrove tidal forests are found in coastal regions influenced by tides.

(b)These are most widespread forests of India. They are divided into moist and dry deciduous forest.

(c) Trees of this forest type shed their leaves for about 6-8 weeks in dry summer.

(d) Wet deciduous are found in regions between 100-200 cm of rainfall, e.g., Jharkhand, Odisha and Chattisgarh.
Dry deciduous are found in regions between 70-100 cm of rainfall, e.g., Bihar. Uttar Pradesh.

(e)There are open stretches in which teak, peepal, neem, sal grows.
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Characteristics or qualities of the population: What are their age, sex composition, literacy levels, occupational
structure and health conditions?

Population Size and Distribution

India’s Population Size and Distribution by Numbers

As of March 2011, India’s population was 1,210.6 million which accounts for 17.5% of the world’s population.
Uttar Pradesh is the most populous state of India as it counts about 16% of the country’s population.

Almost half of India’s population lives in just five states which are Uttar Pradesh, Maharashtra, Bihar, West
Bengal and Andhra Pradesh

Population Growth and Processes of Population Change

The numbers, distribution and composition of the population are constantly changing. This is the influence of the
interaction of the three processes:

Birth

Death

Migration

Processes of Population Change/Growth

Three main processes of change of population are:

Birth Rates

Death Rates

Migration Age Composition

The age composition of a population refers to the number of people in different age groups in a country. The
population of a nation is grouped into 3 broad categories:

Children (generally below 15 years)

Working Age (15-59 years)

Aged (Above 59 years)

Sex Ratio

It is defined as the number of females per 1000 males in the population. Sex Ratio is an important social
indicator to measure the extent of equality between males and females in a society at a given time.

Literacy Rates

According to the Census 2011, a person aged 7 years and above, who can read and write with understanding in
any language, is treated as literate. India’s literacy rate is 73% as per the census of 2011.

Occupational Structure

The distribution of the population according to different types of occupation is referred to as the occupational
structure. Occupations are classified as:

Primary: Primary activities include agriculture, animal husbandry, forestry, fishing, mining and quarrying, etc
Secondary: Secondary activities include manufacturing industry, building and construction work, etc.
Tertiary: Tertiary activities include transport, communications, commerce, administration and other services.
Health

Health is an important component of population composition, which affects the process of development. The
substantial improvement in Public Health in our country is the result of many factors such as:

Prevention of infectious diseases

Application of modern medical practices in diagnosis and treatment of ailments

Adolescent Population

National Population Policy

The National Population Policy (NPP) 2000 provides a policy framework for imparting free and compulsory
school education up to 14 years of age. It also helps in

reducing infant mortality rate to below 30 per 1000 live births

Achieving universal immunisation of children against all vaccine-preventable diseases

Promoting delayed marriage for girls, and making family welfare a people-centred programme

NPP 2000 also put emphasis on other important needs of adolescents including protection from unwanted
pregnancies and sexually transmitted diseases (STDs). It aims towards encouraging:

Delayed marriage and child-bearing

Education of adolescents about the risks of unprotected sex

Making contraceptive services accessible and affordable



Therefore, it is important to know how many people are there in a country, where do they five, how and why
their numbers are increasing and what are their characteristics.

Question 2.

“Assam and most of the Penin-sular states have moderate population densities.” Give three reasons.
Answer:

The region has hilly,dissected and rocky terrain.
The region receives moderate to low rainfall.
The region has shallow and less fertile soil.
Question 3.

Mention the process of change of population.
Answer:

Birthrate

Death rate

Migration

Question 4.

What are the major factors responsible for internal migration?

Answer: In India, most migrations have been from the rural to the urban areas because of the “push” factor in
rural areas. These are adverse conditions of poverty and unemployment in the rural areas and the “pull” of the
city in terms of increased employment opportunities are better living conditions.

Question 5.

What is occupational structure? Explain

Answer:

Occupational structure refers to the distribution of work force among different occupations. Different
occupations can be classified into three groups:

(i) Primary occupations

(i) Secondary occupations

(iii) Tertiary occupations

Question 6.

Write short notes on the age composition of population and dependency.

Answer: The age composition of population refers to the number of people in different age groups in a country.
It is one of the most basic characteristics of a population.

The age composition of population is expressed in three broad categories.

Children below the working age (below 15 yrs)

Persons in the working age (15 to 59 yrs)

Old persons above the working age (above 59 yrs)

Question 7.

What is sex ratio? Give two reasons responsible for an unfavourable sex ratio in India.

Answer: The number of females per thousand of males is called the sex ratio.

In 1901, the ratio was 1000: 972 but it dropped to 1.000:940 in 2011. Main causes of the change of ratio are:
Low social, economic and political status of women.

Dowry system is also responsible for this.

Parents also feel insecure if a girl child is bom.



Death rate: Death rate is the number of deaths per thousand persons in a year. The main cause of the rate of
growth of the Indian population has been the rapid decline in death rates. Till 1980, high birth rates and declining
death rates led to a large difference between birth rates and death rates resulting in higher rates of population
growth. Since 1981, birth rates have also starred declining gradually, resulting in a gradual decline in the rate of
population growth.

Migration — The third component of population growth is migration. Migration is the movement of people across
regions and territories. Migration can be internal (within the country) or international (between the countries).
Internal migration does not change the size of the: population, but influences the distribution of population
within the nation. Migration plays a very significant role in changing the composition and distribution of
population.

Question 3.

Write an essay on the population distribution in India pointing out the geographical factors influencing the same.
Answer: Distribution of population: The average density of population in India according to 2011 Census was
about 382 persons per sq. km.

Low density: The states of Jammu and Kashmir, Himachal Pradesh, Uttarakhand, Aruna-chal Pradesh,
Nagaland, Manipur, Tripura, Meghalaya, Rajasthan and Madhya Pradesh have very low to low population
density. Rugged terrain and unfavourable climatic conditions are mainly responsible for the sparse population in
these areas.

Moderate density: The bulk of the peninsular blocks and Assam have a moderate density of population.
Distribution of population is influenced here by the rocky nature of the terrain, low to moderate rain, and shallow
and less fertile soil.

High density: The Northern Plains, Tamil Nadu and Kerala have high to very high density of population because
of the plain terrain, rich and fertile soil, abundant rainfall and moderate climate.

Question 4.

“Health situation in India is still a cause for serious concern”. Give reasons.

Answer.

Public health facilities only for few: At present, less than 20 per cent of the population utilises public health
facilities. One study has pointed out that only 38 per cent of the PHCs have the required number of doctors and
only 30 per cent of the PHCs have sufficient stock of medicines.

Poor health facilities in rural India: Though 70 per cent of India’s population lives in rural areas, only one-fifth
of its hospitals are located in rural areas. Rural India has only about half the number of dispensaries.

Poor health status for women: More than 50 percent of married women between the age group of 15 and 49 have
anaemia and nutritional anaemia caused by iron deficiency, which has contributed to 19 percent of maternal
deaths.

Question 5.

What are the factors that influence the population distribution in India?

Answer: Factors that influence the population distribution are :

Type of Climate: Areas having moderate climate have more population than the areas having extreme climatic
conditions. Leh and Ladakh in Jammu and Kashmir and western Rajasthan have extreme type of climate.
Therefore, these regions have less or sparse population.

Type of Soil: India’s northern plains and coastal plains are made up of alluvial soil which is very fertile. So,
these areas are densely populated. On the other hand, hilly areas and deserts are thinly populated.

Opportunity for Jobs: The areas which have more opportunities of jobs are thickly populated, whereas areas
which do not provide people with job opportunities are sparsely populated. Urban areas are thickly populated
because of this factor.

Religious and Historical Places like Allahabad, VVaranasi, Rameshwaram, Agra etc. are also thickly populated.



Low literacy rates and lack of social awareness.

Evil effects of early marriage and deaths in large numbers during child birth.

Insufficient attention to care of girls after birth, during adolescent period and during motherhood.

Poverty leads to preference for male child as they become breadearners. These factors lead to more deaths
among females and affects the sex ratio of the country.

Question 10.

Why is population important for a country?

Answer: The people are important to develop the economy and the society. The people make and use resources,
and are themselves resources with varying quality.

It is the point of reference from which all other elements are observed and from which they derive significance
and meaning. ‘Resources’, ‘calamities’ and ‘disasters’ are all meaningful only in relation to human beings.
Their numbers, distribution, growth and characteristics or qualities provide the basic background for
understanding and appreciating all aspects of the environment. Human beings are producers and consumers of
earth’s resources. Therefore, it is important to know how many people are there in a country, where do they live,
how and why their numbers are increasing and what are their characteristics.
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and declared himself the 'Chief Executive of the Later he changed his designation to President and
in 2002 held a referendum in the country. Pakistan had elections, elected representatives had some
power, but the final power rested with military officers and General Musharraf.

In China: Election are regularly held after every five years of electing the country's parliament
called National People's congress. It appoint president of the country. Only those, who are members
of the Chinese Communist Party or eight smaller parties allied to it, were allowed to contest
elections held in 2002-2003. This government is always formed by the Communist Party.

One Person, One Vote, One Value

Under Universal Adult Franchise, every citizen of 18 years and above hasthe right to vote. One person, one

vote, one value means that every person has only one vote and it's value is equal to every other vote.

In Zimbabwe: In 1980, Zimbabwe got freedom from White minority rule Since

Independence, elections have been held regularly and always won by ZANU-PF (Zimbabwe
African National Union-Patriotic Front).
Points against democracy

Despite all merits,democracy also have someproblems. Afew areas follows-

It createsinstability bychangingits leaders frequently.

Democracy is about power play and political competition. There is no scope for morality.
Somany people have to beconsulted before any issue issolved. It leadsto delay.

Elected leaders do not know the best interest of the people.

It leads to corruption for it is based on electoral corruption.

Ordinary people do not know what is good for them, so decision making should not be left to them.
Representative Democracy: Modern democracies involve such a large number of people that it is
physically impossible for them to sit together, and take a collective decision.

Under representative democracy all the people do not rule or take decisions but a majority or elected
representatives are allowed to take decisions on behalf of all the people.

Multiple Choice Questions.

Ql.

Q2.

Q3.

The most common form that democracy takes in our time isthat of

(1)  Unlimited democracy
(if) Representative democracy
(i1i)) Directdemocracy

(iv) None of the above

Some of the drawbacks of democracy is
(1) Instability and delays

(i) corruption and hypocrisy

(iii) Politicians fightingamongthemselves
(iv) allthe above

What is peculiar with ZANU-PF?



(iv) India

QIl.  Which of the following statement iscorrect?
() Thearmyrulesof Myanmar are elected by the people
(11) People have no say under army rule
(iii) Pinochet of Chile was democratic leader
(iv) The kingof Saudi Arabia rule because people have chosen him.

Q12. General Parvez Musharraf led a military coup in Pakistan in which year?
(1) 1999
(i) 2000
(iii) 2002
(iv) 2003
Q13. In which country isInstitutional Revolutionary Party (PRI) active?
(1) Mexico
(i) Pakistan
(111) Zimbabwe
(iv) China

Q14. Zimbabwe attain independence from whom?
(1) From White majority rule
(i) From White minority rule
(ii1) From Americans
(iv) From British rule

Q15. Why democracy is better than other forms of government?
(1) It helps in taking right decisions quickly
(i) It allows us to correct its own mistakes.
(it1) It guarantees that mistakes cannot be made in democracy.
(iv) None of the Above

1(Gii) 2(v) 3(i) 4 (i) 5 (i) 6 (i) 7 (iv) 8 (iv) 9(ii) 10 (iv) 11(ii) 12(i) 13 (i) 14(ii) 15(ii)
VERY SHORT ANSWER QUESTIONS (2 MARKS)

Ql.  WhatisDemocracy? Name 2 Demaocratic countries.

Ans. Democracy isaform of government in which the ruler of the nation is elected by the choice of
people. For example, India and USA are Democratic countries.

Q2. Nameanytwo characteristics of democracy.
Ans (a)People get to choose their leaders
(b) People are free to express their views



(c) Ademocratic government rules within the limitsset by the constitutional laws.

SOURCEBASED QUESTIONS

Ql.

Readthe following and answer the questions (1 marks each)

In China, elections are regularly held after every five years for electing the country's parliament,
called Quanguo Renmin Daibiao Dahui (National People's Congress). The National People's Congress
hasthe power to appoint the President of the country. It has nearly 3,000 members elected from all
over China. Some members are elected by the army. Before contesting elections, a candidate needs
the approval of the Chinese Communist Party. Only those who are members of the Chinese
Communist Party or eight smaller parties allied to it were allowed to contest elections held in 2002-
03. The government is always formed by the Communist Party.

Since its independence in 1930. Mexico holds elections after every six years to elect its President.
The country has never been under a military or dictator's rule. But until 2000 every election was
won by a party called PRI (Institutional Revolutionary Party). Opposition parties did contest
elections, but never managed to win. The PRI was known to use many dirty tricks to win elections.
All those who were employed in government offices had to attend its party meetings. Teachers of
government schools used to force parents to vote for the PRI. Media largely ignored the activities
of opposition political parties except to criticise them. Sometimes the polling booths were shifted
from one place to another in the last minute, which made it difficult for people to cast their vote.
The PRI spent a large sum of money in the campaign for its candidates.

Give one basic criteria for someone to fight election in China.

Ans. Tofightelection in China, the candidate need approval from the Chinese communist party. It's

Q2.

Ans.

Q3.

Ans.

Q4.

AnNS.

one of the basic requirements.
Do you think the above-mentioned criteria to fight election in China is democratic?

No. Because in a democracy anyone should be allowed to fight free and fair election. But in
China, the ruling communist party allows only their favourable candidates to fight election.

How were Mexican presidential elections non-Democratic?

The PRI (Institutional Revolution party) never lets opposition parties win the election. For this PRI
uses dirty techniques like controlling media, Bribes, Booth controlling etc.
How werethe elections in Mexico and China different?
In China, ruling party chooses who can fight elections. While in Mexico, anyone can fight elections
but the rulingPRI party never let anyone else win by using dirty tactics.



Ans.

M LD E

The power to take final decision rested with army officials and with General Musharraf, and none
of them were elected by the people.

After the passage of the--- elections were held to the national and state assemblies.

Military rule
Referendum
legal Framework Order

Both (b)and (c) (Ans. 3)

Q4. What are monarchies?

Ans. A monarchy is aform of government in which aperson,the monarch, is head of state for life or

until abdication. Alsothe monarch chooses the next ruler.

LONG ANSWER QUESTIONS (5 MARKS)

al.

Ans

(a)

(b)

()

(d)

(€)

()

Why is democracy considered to be the best option among all other political systems in the world?

(Or write advantages of Democracy)

ACCOUNTABLE GOVERNMENT: Democracy is better than any other form of government
because it represents the needs of the people. It does not depend on the whims of the ruler or the
dictator. Democracy is for the people and hence It is an accountable form of government.

CONSULTATION DISCUSSION: Democracy is based on consultation and discussion. Decisions are
made after long Discussions and consultation with subject experts. Thus, democracy improves the
quality of decision making.

PEACEFULLY DEALS DIVERSITY: Democracy provides a peaceful solution to every problem. It
provides the best method of dealing with differences and conflicts. It suits the needs of many
countries like India with diversity of languages, religions, castes and creeds. Discussions leadto
the solution of every problem, so it keeps our country united.

POLITICAL EQUALITY: Democracy is based on political equality which ensures equal rights, both
for the rich and the poor, the educated and the uneducated. Thus, in a way, democracy enhances the
dignity of every citizen.

ROOM FOR CORRECTION: It is only in democracy that mistakes are admitted, and all
attempts are madeto correct these mistakes. If mistakes are made, it isonly in democracy that
they are admitted and then corrected. In democracy, thus, there is a room for correction.
Democracy provides the opportunity to the citizens to flourish accordingto their ability.

Q2.A Distinguish between the democratic government and non-democratic government.

Ans

Democratic Government
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CHAPTER-2
CONSTITUTIONAL DESIGN

Democratic Constitution in South Africa Struggle against Apartheid

¢ Apartheid was the system of racial discrimination or segregation on grounds of race unique
to South Africa. The white Europeans imposed this system on South Africa. The system of
apartheid divided the people and labelled them onthe basis of their skin colour. The whiterulers
treated all non-whites as inferiors.

The apartheid system was particularly oppressive for the blacks.
The non-whites did not have the voting rights.

e Blacks couldnot form associations or protest against the terrible treatment.
e They could work in white areas only if they had a permit.

e Theywereforbidden from livingin white areas.

e They couldnot even visitthe Churches where the whites worshipped.

e Trains, buses, taxis, hotels, hospitals, schools and colleges, libraries, cinema halls, theatres, beaches,
swimming pools, public toilets, were all separate for the whites and blacks. This was called
'segregation’.

e The African National Congress (ANC) wasthe umbrella organization that ledthe struggle against
the policies of segregation. This included many workers' unions and the Communist Party. Many
sensitive whites also joined the ANCto oppose apartheid and played a leading role in this struggle.

Struggle Against Apartheid in South Africa

(i) Nelson Mandela and seven other leaders were sentenced to life imprisonment in 1964 for daring to
oppose the apartheid regime in his country.

(if) Apartheid was the name of a system of racial discrimination unique to South Africa, which was
imposed by the white Europeans on the blacks.

(iii) During the seventeenth and eighteenth centuries, the trading companies from Europe
occupied South Africa.

(iv) The native people of South Africaare black in colour and make up three-fourth of the population.

(v) Apart from the white Europeans and black natives there were people of mixed races who were
called 'coloured’ and also people who migrated from India.

(vi) The white rulers treated all non-whites as inferiors.

(vii) The non-whites did not have voting rights.

(viii) In the Apartheid system, the blacks were forbidden from living in white areas. They could
work in white areas only if they had a permit.

(ix) Trains, buses, taxis, hotels, hospitals, schools, colleges, libraries, cinema halls, theatres, beaches,
swimming pools, public toilets, etc. were all separate for the whites and black. This was called
segregation.



A constitution does many things :

1.

2.

3.

It generates a degree of trust and coordination that is necessary for different kind of
people to live together.

It specifies how the government will beconstituted, who will have power to take which
decisions. lit lays down limits on the powers of the government and tells us the rights of
the citizens.

It expresses the aspirations of the people about creating agood society.

All countries that have constitutions are not necessarily democratic. But, all countries that are

democratic will have constitutions.

()
(i)
(iii)
(iv)
(V)
(vi)
(vii)
(viii)
(ix)
(x)
(xi)
(xii)
(xiii)

(xiv)

TheSouth African example isa good way to understand why we need a Constitution and
what do Constitutions do.

The oppressor and the oppressed in thisnewdemocracy were planning to livetogether as
equals.

Both wanted to safeguard their interests.

The black majority was keen to ensure that the democratic principle of majority rulewas
not compromised. They wanted socio-economic rights.

The white minority was keen to protect its privileges and property.

After long negotiations both parties agreed to compromise.

The whites agreed to the principle of majority rule and that of one person onevote.

The blacks agreed that the majority rule would not be absolute.

The blacks agreed that themajority would not take away the property of the white
minority.

The only way to maintain trust insuch a situation isto write down some rules and regulations
that everyone would abide by.

These rules lay down how the rulers are to be chosen in future.

These rules also lay down what the elected governments are empowered to do and what
they cannot do. Finally, these rules decide the rights of the citizens.

They also decided that these rules will be supreme, that no government will be able to
ignore these.

The set of basic rules is called a constitution.

Significance of a Constitution

(i)
(i)
(iii)
(iv)
(V)
(vi)

(vii)
(viii)

(ix)

The Constitution of a country is a set of written rules that are accepted by all people living
together in a country.

The Constitution is the supreme law that determines the relationship among the people

living in a territory (called citizens) and also the relationship between the people and the

government.

A Constitution does Many Things

First, it generates a degree of trust and co-ordination that is necessary for different kind of

people to live together.

Second, it specifies how the government will be constituted and who will have power to

take which decisions.

Third, it lays down limits on the powers of the government and tells us what the rights of

the citizens are.

Fourth, it expresses the aspirations of the people about creating a good society.

All countries that have Constitutions are not necessarily democratic. But all countries that

are democratic will have Constitutions.

It has become a practice in all democracies to have a written Constitution.



We Acceptthe Constitution

(i)
(ii)

(iii)

(iv)

(V)
(Vi)
(vii)
(viii)
(ix)
(x)

We accepted the Constitution made by the Constituent Assembly more than 50 years ago.

The Constitution does not reflect the views of its members alone, it expresses a broad
consensus of its time.

The second reason for acceptingthe Constitution isthatthe Constituent Assembly
represented the people of India. There wasno universal adult franchise and it could not be
chosen directly by all the people of India. The Constituent Assembly was elected by the
members of the existing Provincial Legislatures. Thisensured afair geographical share of
members from all the regions of the country.

Finally, the manner in which the Constituent Assembly worked gives sanctity to the
Constitution.

The Constituent Assembly worked in a systematic open and consensual manner.
First some basic principles were decided and agreed upon.

A Drafting Committee chaired by Dr BR Ambedkar prepared adraft Constitution for
discussion. Discussion took place on the Draft Constitution clause by clause.

More than 2000 amendments were considered.
The members deliberated for 114 days spread over 3 years.

Every document presented and every word spoken in the Constituent Assembly has been
recorded and preserved. These are called '‘Constituent Assembly Debates' printedin 12 bulky
volumes. These debates provide the rationale behind every provision of the Constitution.
These are used to interpret the meaning of the Constitution.

The Guiding Values of the Indian Constitution

(i)

(ii)

(iii)

Mahatma Gandhi wasnot a member of the Constituent Assembly, there were many members
who followed his vision.

Writing in his magazine Young India in 1931, Gandhiji had spelt out what he wanted the
Constitution to do. He visualized for a country, where all communities should livein perfect
harmony. India will befree from the curse of untouchability, intoxicating drinks and drugs.
Men and women will enjoy the same rights.

BR Ambedkar played a key rolein the making of the Constitution but he differed with
Gandhiji on how inequalities should be removed. He often bitterly criticized Mahatma
Gandhi and his vision.

Philosophy of the Constitution

(i)

(i)
(iii)

(iv)

(v)

Thevalues that inspired andguided the freedom struggle formed the foundation for India's
democracy.

These values areembedded in the Preamble of the Indian Constitution.

Theyguide allthe articles of the Indian Constitution. The Constitution beginswith a short
statement of its basic values. This is called the Preamble to the Constitution.

Most countries in the contemporary world have chosen to begin their Constitutions with a
Preamble like American Constitution.

The Preamble of the Constitution contains the philosophy on which the entire Constitution
has been built.It isthe soulof the Indian Constitution.



Question 3. Who amongthe following was not the member of the Constituent Assembly?

(a) Mahatma Gandhi (b) Rajendra Prasad
(c) T.T. Krishnamachari (d) Pt. Jawaharlal NehruAnswer:

Answer:  (a) Mahatma Gandhi

Question 4. Nelson Mandela remained in the jail for

(a) 28 years (b) 29 years
(c) 30 years (d)31years
Answer: (a) 28 years

Question 5. Apartheid in South Africa was discrimination on the basis of

(a) gender (b) religion
(c) race (d) economic status
Answer: (c) race

Question 6. How many members had the Constituent Assembly that wrote the Indian Constitution?
a) 200 (b) 199
(c) 198 (d)190

Answer: (b) 199



Question 7. Which of the following terms isnot included in the Preamble to the
Indian Constitution?
(a) Liberty (b) Equality
(c) Secular (d) Religion

Answer:  (d)Religion

Question 8. The Indian Constitution came into effect on
(a) 26 January 1949 (b) 26 January 1950
(c) 26 January 1952 (d) 26 November 1950

Answer: (b) 26January 1950

Question 9. Onwhat charges was Nelson Mandela sentenced to life imprisonment?
(a) For treason (b) For breaking the laws

(c) For corruption charges (d) for possessing illegal property
Answer: (a) For treason

Question 10. In which way did the system of apartheid discriminate amongthe South

Africans?
(a) Restricted social contacts between the races
(b) (c) Created race-specific job categories

Answer: (d) All the above the above

Question 11. Why did the white regime decide to change its policies?
(a) Increase in protests and struggles
(b) Government realised that repression was becoming difficult
(c) Rise of sympathetic attitude in government for the blacks
(d) Both (a) and (b)

Answer: (d) Both (a) and (b)

Question 12. When did South Africa become a democratic country?

(a) 26 April, 1995 (b) 26 April, 1994
(c) 24March, 1994 (d) 27 April,1996

Answer: (b) 26 April, 1994

Question 13. Name the autobiography of Nelson Mandela.



(a) The LongWalkto Freedom
(b) South Africa Wins Freedom
(c) Walk to Freedom
(d) Our Freedom

Answer: (a) The Long Walkto Freedom

Question 14. What did the white minority want from the new Constitution?
(a) Protect its privileges and property
(b) A separate country for themselves
(c) Reservation in legislature
(d) somespecial rights
Answer: (a) Protect its privileges and property

Question 15. Which of the followingsentences iscorrect?

(@) Allcountriesthat have constitutions are necessarily democratic

(b) Allcountries thataredemocratic necessarily have constitutions

(c) Both(a)and(b)

(d) (d) None of the above

Answer: (b) All countries thataredemocratic necessarily have constitutions

VERY SHORT ANSWER QUESTIONS (2 MARKS)

1. What advantage did Indian Constitution makers have unlike South Africa?

Answer: There was one big advantage for the makers of the Indian Constitution.
Unlike South Africa, they did not haveto create a consensus aboutwhat a
democratic Indiashould look like.

2. Who was the first one to draft a constitution for India?

Answer:In 1928, Motilal Nehru and eight other Congress leaders drafted a
constitution for India.

3. What resolution wasmade in 1931, Karachi session?

Answer: In 1931, tne resolution at the Karachi session of, the Indian National
Congress dwelt on how independent India's constitution should look like.



4. Whichbasicvalues were incorporated in our constitution from these pre-
independence decisions?
Answer: (i) Universal Adult Franchise.

(i) Rightto freedom and equality.
(ii) protectingthe rights of minorities.

5. Which countries constitutional featuresinspired Indian Constitution
makers?

Answer: (i) Ideals of French Revolution
(if) Parliamentary democracy of Britain
(iii)  Billsof Rightsin USand

(iv) Socialist Revolution in Russia.

SHORT ANSWER TYPE QUESTION (3 MARKS)

Question 1. Mention any three changes that were brought about in the
constitution of South Africa after 1994.

Answer: Thethree changes that were bought in the constitution of South

Africa were as follows.

Discriminatory laws were repealed.
2. Ban an political parties and restrictions on media were lifted.

3. Nelson Mandela was released after 28 years of
imprisonment.

Question 2. How difficult it was for Indiato frame a constitution for united

India after Independence?

Answer: To frame a constitution for unified India after Independence, its
difficult in following manner.



1. At that time the people of India were emerging form the status of
subjects to that of citizens.
The country emerged thought Partition on the basis of religion.

2. It was atraumatic experience for boththepeople of India and Pakistan.

Question 3. Which countries constitutional features inspired Indian constitution makers?

Answer: The following countries constitutional features inspired Indian constitution
makers:

Ideals of the French Revolution.
The practice of Parliamentary democracy in Britain.

The Bill of Rightsinthe US."
The Socialist Revolution in Russia. (anythree)
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Question 4. What was the role of Dr BR Ambedkar in making of the constitution?
Answer:  DrBR Ambedkar wasthe Chairman of the Drafting Committee.

1. He played a key role in the makingof the constitution He gave shapeto our
country of being a complete sovereign democratic republic based on
universal adult franchise.

2. He stressed that in politics these should be equality but in social and
economic life inequalities should be removed.

VERY LONG ANSWER QUESTION (5 MARKS)

Question 1. How was apartheid system practised in South Africa?
Answer:  The apartheid system was practised in South Africa in the following ways:

1. The system of apartheid divided the people on the basis of the colour of
their skin.

2. The non-whites were treated as inferiors and were deprived of their
rightto vote by the whites.
3. They were forbidden from livingin whiteareas.

4. They could work in white areas only it they had a permission.
Trains, buses, taxis hotels, schools, libraries, cinema halls, beaches,

swimming pools were all separate for the whites and blacks.
6. The blacks could not worship inthe Churches where the whites worshipped.

7. Blackscould not form associations or protest against the terrible treatment
metedout to them.
(any five)
Question 2. Why do we need a constitution?
Answer: We need a constitution for the following reasons.
1. It generates adegree of trust and coordination which is necessary for

different kinds of people to live together.



2. The constitution specifies how the government will be constituted and
what power

each organ willhave and who willtake what decision.

3. Italso definesthe responsibilitiesof these three pillars of the
governmenti.e., legislature, executive and judiciary.
4. It regulates the relationship between three organs and also with the people.

It alsotellsusabout the rights and duties of the citizens.

It limitsthe powers of the government and tells usabout the rights of the
citizens.

7. The Indian constitution also protects/safeguards the interests of
minorities, the backward classes and weaker sections.

SOURCE BASED QUESTION (4 MARKY)

The firstmeeting of the constituentassembly washeld inDecember 1946.1twas a
continuous process of debates that gave us our constitution. A total of 299 members of
the assembly are credited for their contribution on to the making of indian
constitution. Among the contemporary participatries of India at that time, it was the
Indian National Congress that dominated the constituent assembly. It was finally on
26th November 049 whenthe Constituent Assembly adopted the constitutionand
was puttoeffecton26th January 50 and then this date was commemorated as
Republic Day.

1. How many memberswere their inthe constituentassembly?
Ans. 299 members.

2. Whichparty dominated the constituent assembly ?
Ans. The Indian National Congress dominated the constituent assembly.

3. Whendd the Constituent Assembly adopted the constitution ?
Ans. On 26th November 1949 when the Constituent Assembly adopted the
constitubn.

4, When did the first meeting of the constituent assembly was held?
Ans. The first meeting of the constituent assembly was held in December 1946.
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CHAPTER-03
ELECTORAL POLITICS

WHY ELECTIONS?
Assembly Elections inHaryana

Haryana had been ruled by a Congress party led by Government since 1982.
So,thepeople voted for Chaudhary Devi Lal’s partyin1987 and they won 76 out of 90
seats in the State Assembly.

Thenewly elected MLAs elected Devi Lal as their leader and hebecame thenew Chief
Minister 3 days later.

What makes an election democratic?

The minimum conditions for a democratic election are:

- Everyone is entitled to one vote and each vote has equal value.

- Parties and candidates should contest elections freely and of Ter choice to voters.

- Elections must be held regularly after every few years.

- Candidates preferred by the people should be elected.

- Elections should be conducted in a free and fair manner. Is it good to have political
competition?

Elections involve competitions among political parties and at the constituency level,
it

involves competition among candidates without which elections will become
pointless.



What is our system of elections ?

In India, Lok Sabha and Vidhan Sabha elections are held after every five years after
which it stands ‘dissolved’.

Electoral constituencies

India isdivided into different areas, called electoral constituencies, for the purpose of
elections.

Reserved Constituencies

Inorder to avoid any inequality and make the country more democratic, the
Constitution makers reserved constituencies for the weaker section such as Schedule
Castes and Scheduled Tribes.

Voter’s list

Inademocratic election, the list of those who are eligible tovote is prepared much
before the election and given to everyone. This list is officially called the Elec toral
Roll and is commonly known as the Voters’ List.

Nomination of candidates

Party ticket isa political party’s nomination who gets the party symbol and support.
Educational qualifications for candidates

The relevantqualification forbeingan MLA oran MP is the ability to understand
people’s concerns, problems and to represent their interests. Whether they can do so
or not is examined by lakhs of examiners — their voters — after every fiveyears.

Election campaign

Electioncampaigns areheldtohave afreeand opendiscussionas towhichcandidate will
make a better representative or which party will make a better government.

Polling and counting of votes

The voters ‘cast’ or ‘poll” their votes in a nearby ‘polling booth’ on theElection Day.
The counting of votes are displayed all over media and withina few hours results are
declared and a new government is formed.

Are the elections too expensive for our country?
A large amount of money is spent in conducting elections in India

In Lok Sabha elections in 2014, the amount spent by parties and candidates was
more than what the government spent.

WHAT MAKES ELECTIONS IN INDIA DEMOCRATIC

Independent Election Commission

In India, elections are conducted by the Election Commission, which has the same
independence as the judiciary.

It is impossible to remove him even if does not perform his duties well.
Popular participation

Besides knowing who conducts election, the quality of election process may be
checked by calculating participation or voter turnout.

Acceptance of Election outcome



e The final quality test of election is seen through the outcome which favours the
powerful, if conducted by unfair means.

e Challenges to free and fair elections

¢ Political parties with lot of money enjoy advantage over smaller parties.
e Parties with criminal connections may secure tickets from major parties.
e Tickets may be given to a party member’s relative.

e Ordinary citizens have limited choice if major parties are similar in policies and
practice.

MULTIPLE CHOICE QUESTIONS
Q1. In most democracies people rule ?

A. Through their representatives. B. Directly
C. Unelected ministers D. None

Q2. On what basis do the voters generally choose their representatives?

A. They can choose who will make laws for them

B. They can choose who will form the government and take major decisions

C. They can choose the party whose policies will guide the government and law
making

D. All
Q3. Which is not a sign of democratic elections ?

A. Everyone should have one vote and every vote should have equal value.

B. There should be something to choose from. Parties and candidates should be free to

contest elections and should offer some real choice to the voters.
C. Elections must be held regularly after every few years.
D. Itis a must the candidate preferred by the people should get elected

Q4. What creates a sense of disunity and ‘factionalism’ ?

A. Democracy B. Non democracy
C. Political Competition D. Extreme political competition

QS. What happens in Factionalism?

A. Different political parties and leaders often level allegations against one another
B. Parties and candidates often use dirty tricks to win elections

C. electoral fights does not allow sensible long-term policies to be formulated

D. All

Q6. Parties and candidates often use dirty tricks to win elections, why?

A. To serve the people B. To advance their careers
C. To terror the people D. All

Q7. What happens in General Elections?
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EleHions are held in all constituencies at the same time, either on the same day
Elections are held in few constituencies

EleHions are held on different days in different constituencies

None

QB. What happens in a by-election?

Elections are held in few constituencies

Elections are held in all constituencies at the same time, either on the same day
Elections are held on different days in different constituencies

Sometimes elections are held only for one constituency to fill the vacancy caused by
the death or resignation of a member.

Q9. In our country we follow......system of representation.

B. Area based
D. Culture based

A. Caste based
C. Religion based

Q10. For Lok Sabha elections, the country is divided into ....... number of
constituencies?

A. 544
C. S43

B. S34
D. 541

Q11. Currently, in the Lok Sabha,.....number of seats are reserved for the Scheduled Castes.

A. 84 B.76 C. 67 D. 88

Q12. Currently, in the Lok Sabha,...... seats are reserved for the Scheduled Tribes.
A. 48 B. 39 C. 47 D. 38

Q13. Which is not a reserved class?
A.ST B.SC C.0OBC D. Gen

Q14. What is the other name for the Voters* List?

B. Election List
D. Election vote list

A. EleHoral List
C. Electoral Roll

Q15. In the last few years a new system of (EPIC] has been introduced?
A. Aadhar Card B. Election Photo Identity Card
C. Voter’s card D. Pan card
1 2 3 4 5 6 7
A D D D D B A
10 11 12 13 14 15
C C A D C B

VERY SHORTANSWER TYPE QUESTION (2 MARKYS)




Q1 What are the reserved constituencies7

Answer: The constituencies that are reserved for people who belong to the
Scheduled Castes and Scheduled Tribes, are called reserved constituencies

Q 2. What is general election ?

Answer: The elections of the Lok Sabha and Vidhan Sabha take place after five
years. Elections are held in all constituencies at the same time, either on the same
day or within a few days  This is called a general election

Q 3. What are the main functions of the Election Commission of India?

Answer: Section Commission takes decisions on every aspect of conduct and
control of election. It implements code of conduct. It orders the government to
follows the guidelines, to prevent use and misuse of governmental power to enhance
its win elections, or to transfer some government officials. If Election Commission
feels unfairness in polling, it orders a re-poll.

Q.4. What are the two merits of electoral competition? Answer: Two merits of
electoral competition are:

Political leaders all over the world, like all other professionals, are motivated by a
desire to advance their political careers

*They want to come in power and retain positions for themselves So they do their
best to win the hearts of people.

Q5. What are Reserved Constituencies?

Answer: Reserved Constituencies are constituencies that are set aside for certain
weaker sections of the society.
Weaker sections of the society may not stand a good chance to get elected to the Lok Sabha
and the State Legislative Assemblies They may not have the required resources, education
and contacts to contest and win elections against others. Those who are influential and
resourceful may prevent them from winning elections.

SHORT ANSWER TYPE QUESTION (3 MARKS)
Q 1.Why do we need elections?

Answer: Elections are essential for any representative democracy In an election the
citizens

have many choices They are :

*They can choose the people who will make laws.

*They can choose the government that will rule them.

*They can decide on the party whose policies they prefer.

Q 2.What unfair practices are generally used in elections by our contesting
candidates?

Answer: Unfair practices are quite common in elections. A lot of unfair practices are
used during this time. Some of these are given below:

e Inclusion of false names and exclusion of genuine names in the voters’ list;

e Misuse of government facilities and government officials by the ruling party;
e Excessive use of money by rich candidates and big parties;

e Intimidation of voters and rigging on the polling day



Q 3 What are Electronic VVoting Machines?

Answer: Electronic VVoting Machines (EVM) are used to record votes. The machine
shows the names of the candidates and the party symbols Independent candidates
too have their own symbols, allotted by election officials All the voter has to do is
to press the button against the name of the candidate she wants to give her vote.

Q4 Write a short note on election campaigns.

Answer: In our country, election campaigns take place for a two-week period
between the announcement of the final list of candidates and the date of polling.
During this period, the candidates contact their voters, political leaders address
election meetings and political parties mobilise their supporters.

This is also the period when newspapers and television news are full of election
related stories and debates. But, election campaign is not limited to these two weeks
only. Political parties start preparing for elections months before they actually take
place.

CASE BASED QUESTIONS

Read the source given below and answer the questions that follow:

We noted above that in a democratic election people should have a real choice. This
happens only when there are almost no restrictions on anyone to contest an election.
This is what our system provides. Anyone who can be a voter can also become a
candidate in elections. The only difference is that in order to be a candidate the
minimum age is 25 years, while it is only 18 years for being a voter. There are some
other restrictions on criminals, etc., but these apply in very extreme cases. Political
parties nominate their candidates who get the party symbol and support. Party’s
nomination is often called a party ‘ticket’. Every person who wishes to contest an
election has to fill a ‘nomination form* and give some money as ‘security deposit’.
Recently, a new system of declaration has been introduced on direction from the
Supreme Court. Every candidate has to make a legal declaration, giving full details
of:

Serious criminal cases pending against the candidate;
Details of the assets and liabilities of the candidate and his or her family; and

Educational qualifications of the candidate.
This information has to be made public. This provides an opportunity to the voters
to make their decision on the basis of the information provided by the candidates.

Q. 1. What should be the minimum age of a candidate to contest an election?
(@) 21 b) 30 (c) 25 d) 35

Who nominate their candidates for election?

(b) leader (©) political party (d) prime minister

Q.3. Party’s nomination is often called a party.  ?
(@) party (b) ticket (©) election (d) leader

Q.4 Who conduct the election7
(@) Election commission (b) president (c) parliament (d) prime



minister

Ans.. 1.(c)252. (c) Political party 3. (b) Ticket 4. (a) Election commission

2.  Read the source given below and answer the questions that follow:
Once the election results were announced, the sitting Chief Minister resigned. The
newly elected Members of Legislative Assembly (MLAS) of Lok Oal chose Devi Lal
as their leader. The Governor invited Oevi Lal to be the new Chief Minister. Three
days after the election results were declared, he became the Chief Minister. As soon
as he became the Chief Minister, his government issued a Government Order waiving
the outstanding loans of small farmers, agricultural labourers and small businessmen.
His party ruled the State for four years. The next elections were held in 1991. But this
time his party did not win popular support. The Congress won the election and
formed the government.

Q. 1 What is the name of Devi Lal‘s Party7
A. Lokdal B .Jantadal C. Rashtriya dal D. party dal

Q. 2 Where was this state assembly election held?

A. PUNJAB B. RAJASTHAN C. HARYANA D. DELHI

Q. 3 Who invited Devi Lal to be the new Chief Minister?

A.GOVT B. MINISTERC. MLA D. CHIEF MINISTER

Q.4 when the next elections were held in Haryana7
A.1990 B.1991C.1995D.1985

ANS.1.A 2C 3A 4B

LONG ANSWER TYPE QUESTIONS (5 MARKYS)

Q.1 How are polls conducted in India?

Answer:
The final stage of an election is the day when the voters cast their votes in the polling
booth. This is the Election Day.
Every person whose name is in the voters® list goes to the nearby polling booth to cast
his/her vote.
Once the voters are in the polling booth, they are recognised by the election officials,
they

are identified by putting a ink mark on the finger and allowed to cast their

vote.
An agent of each candidate is allowed inside the polling booth to ensure that the
voting takes place in a free and fair atmosphere.
A ballot paper is placed in which the names of the candidates along with their
symbols are listed. Nowadays EVMs are used to record the votes.
The machine i.e. EVM shows the names of the candidates and party symbols. Even
the independent candidates have their own symbol allotted by the Election
Commission. A vote presses the button against the name of the candidate he/she want
to vote for. (any five)



Q.2. How does a party file a nomination for its candidates?

Answer:
In order to be a candidate a person must be 25 years of age.
Political parties nominate their candidates who get the party symbol and support.
Party ‘ticket‘is party’s nomination.
Every person who contest an election has to fill a nomination form and give some
money as security deposit.
Every candidate has to make a legal declaration, giving some necessary information
about themselves
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WORKING OF THE INSTITUTIONS

GIST OF THE LESSON

How is Major Policy Decision being Taken?

The Decision Makers

Need for Political Institutions

Parliament

Why Do We Need a Parliament

The minister more powerful than the civil servant? Why?
Prime Minister and Council of Ministers

The President

The Indian judiciary consists of the courts at different levels in a country put together:
The Judiciary

Supreme Court for entire nation
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Mind map

« The Prime Minister & the Cabinet are
institutions that take all important policy Nss + The final authority for making
0,

decisions. i
laws in any country.
« Civil Servants are responsible for the . Exercisesyconlrol Zn the govt.

implementation of minister’s decision. « Controls all the money that
« Supreme court settles disputes governments have.

between citizens and the government. « Highest forum of discussion and
debate on public issues.

gecision Makers
e

« President (Head of the State) and
highest formal authority in country.

* Prime Minister (Head of the govt.)

« President and two Houses, Lok Sabha
and Rajya Sabha constitute the
Parliament.

» The Council of States (Rajya Sabha).
* The House of the People (Lok Sabha)

| = Office Memorandum, an order issued
by GOI on Auguest 13, 1990.

| *» Declared 27% in government services|
for SEBC. ]

nd Permanent g, .
o) @ XUty
« Political Executive, elected by the people for a
specific period.
» Permanent Executive, appointed for long term. |

ol

* Council of Ministers usually have
60 to 80 Ministers.
« Cabinet Ministers, top level leaders

|« All the courts at different levels in a country
put together are called the Judicla

« Indian Judiciary consists of Supreme Cour

| for the entire nation, High Courts in the
States, District Courts & courts at local level.

State with independent
arge of smaller Ministries,
of Stale, assist Cabinet

Minist:
« Elected by MPs & MLAs, | Ministers.
« Supreme commander of the|

KEY WORDS

Parliament : The Parliament is a national assembly of elected representatives of the people.
Adjourn : To terminate the sitting of the House which meets again at the time appointed for
the next sitting.

Cabinet : A body of senior ministers who controls important ministers.

Cabinet Secretariat : The Cabinet as a team is assisted by the Cabinet Secretariat. This
includes many senior civil servants who try to coordinate the working of different ministries.
Collective responsibility : For any decision or action of the Cabinet, the Council of Ministers
is collectively responsible. If any cabinet decisions is not approved by the Parliament, the
entire Council of Ministers has to resign.

Council of ministers : A body of ministers who are collectively responsible to the Lok Sabha.
Legislature : The legislature makes the laws. It consists of an assembly of the people’s
representatives with the power to enact laws for a country.

Executive : An executive is a group of people with the authority to initiate major policies,
make decisions and implement them on the basis of constitutional laws.

Political institutions: A set of procedures for regulating the conduct of government and
political life in the country.

Office memorandum: A communication issued by an appropriate authority stating the policy
or decision of the government.

Reservations: A policy that declares some positions in government employment and
educational institutions ‘reserved’ for people and communities who have been discriminated
against, are disadvantaged and backward.

Money Bills : Bills dealing with money matters like taxes, income, expenditure and grants.




Political executive : The political executive consists of political leaders who are elected by
the people for a specific term.

Prorogue : To discontinue a meeting of Parliament for a time without dissolving it.

Public Interest Litigation : Anyone can approach the court if public interest and human rights
are affected by the actions of the government. This is called a Public Interest Litigation.
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1.The Second Backward Classes Commission was appointed by the government of India in
(@) 1979

(b) 1981

(c) 1985

(d) 1999

2.Which one of the following statement about the President is wrong?

(a) He is the head of the state.

(b) He is the highest formal authority in the country.

(c) He exercises only nominal powers.

(d) He is elected directly by the people.

3.The strength of the Council of Ministers ranges from
(a) 60 to 80

(b) 60 to 100

(c) 70to 85

(d) 80 to 100

4.0nce the Lok Sabha passes the budget of the government or any other money related law,
the Rajya Sabha cannot rejected it. The Rajya Sabha can only delay it by

(a) 14 days

(b) 15 days

(c) 16 days

(d) 17 days

5.What do the Civil Servants do?

(a) They take important policy decisions

(b) They implement the ministers’ decisions
(c) They settle the disputes

(d) none of the above

6.Apart from Lok Sabha and Rajya Sabha, who else constitutes the Parliament?
(a) Prime Minister

(b) Chief Minister

(c) Governor

(d) President

7.Which body acts as the guardian of Fundamental Rights?
(a) District Courts

(b) Supreme Court

(c) Election Commission

(d) Legislature

8.Why does the political executive have more powers than the permanent executive?
(a) Because hardly any expertise is required in taking policy decisions

(b) Because political executive consists of the direct representatives of the people
(c) Political leaders are more educated

(d) None of the above

9.Which of these options is/are correct regarding the powers of the Prime Minister?
(a) He chairs the Cabinet meetings

(b) He distributes work to the different departments

(c) He can dismiss ministers

(d) All the above

10.The judges of Supreme Court are appointed by
(a) President



(b) Prime Minister
(c) Chief Justice
(d) Law Minister
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2 MARKS QUESTION (2X4)

1.What Is Political and Permanent Executive?

ANS.

Political executive Permanent executive

They are appointed by the people, so they  The government appoints them to serve under
are responsible to the people the political executive branch.

They are in charge of changing the
government’s policies.

People elect them, and they can be replaced They are permanent and stay in power even

They are the lawmakers and policymakers.



during the next election. though the ruling party changes.

With each change in government, there is a

change in the environment. They are unaffected by changes in government.

TS Tieh SHIRIBRY TATAT HRIBRY
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SIIaTt & 9Tl 3aRErRT 8l & g AT ol o foIT T ger el 1
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2.Which House has more power regarding the money bill? Give reason.

ANS.The Lok Sabha exercises more powers in money matters. Once the Lok Sabha passes
the budget of any other money related law, the Rajya Sabha cannot reject it. The Rajya Sabha
can only delay it by 14 days or suggest changes, in it. The Lok Sabha may or may not accept
these changes.
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3. The Constitution of India has made necessary provisions for ensuring independence of
judiciary.” Justify your answer by giving two reasons.

ANS.The judges are appointed by the executive on the basis of the prescribed qualifications,
and according to a well established procedure.

The Judges cannot be removed at the whims of the executive. .
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4.Why is there a need for political institutions

To take decisions : Countries need political institutions to take decisions regarding the
welfare of the people. Institutions formulate various policies and programmes.
Implementation : The decisions which have been taken are to be implemented. So countries
need institutions to implement the decisions.

To solve the disputes : Institutions are also needed to solve the disputes between various
institutions.



To take right decisions : Institutions help the governments to take the right decisions.
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Long questions  5x2

1.0ur Constitution does give the Rajya Sabha some special powers over the states, but Lok
Sabha exercises supreme power. How? Explain

AnS,

Lok sabha

Rajya sabha

House of People

Council of States

House of People, where people who are
qualified to vote can elect their
representative by way of direct elections

Council of States, where the representatives
are indirectly elected by the elected
representative of the Assemblies of States
and Union Territories

It continues for 5 years
Note: It can be dissolved earlier by passing
no-confidence motion

It is a permanent body

Speaker Vice President of India as the Chairman of
the house

25 years 30 years
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2.Explain briefly the powers and functions of the Supreme Court.

Answer:

Original Jurisdiction : The original jurisdiction extends to those cases which the
Supreme Court has the authority to hear and decide in the first instance.

o Between citizens of the country;

o Between citizens and government;

o Between two or more state governments; and

o Between governments at the union and state level.
Appellate Jurisdiction: It is the highest court of appeal in civil and criminal
cases. It can hear appeals against the decisions of the High Courts.
Advisory Jurisdiction : As the highest court in the country, the Supreme Court
gives legal advice to the President of India on any legal or constitutional matter
referred to it. However, the advice is not binding on the Supreme Court.

Guardian of the Constitution: The Supreme Court acts as the guardian and final
interpreter of the Constitution. If the government passes any law or issues any
order which is in violation of the Constitution, the Supreme Court has the
power to declare the law or order unconstitutional.

Guardian of Fundamental Rights: The Supreme Court also acts as a guardian of
the fundamental rights of the citizens. When a fundamental right of any citizen
is violated by the government or any individual, he can seek the protection of
the Supreme Court.
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Democratic Rights



Gist of the lesson —
Life without rights
Prison in Guantanamo Bay

Amnesty International, an international human rights organisation

Citizens’ Rights in Saudi Arabia
Ethnic massacre in Kosovo
RIGHTS IN A DEMOCRACY

What are rights? Why do we need rights in democracy?

RIGHTS IN THE INDIAN CONSTITUTION - six rights

How can we secure these rights. The fundamental rights in the Constitution are important
because they are enforceable. We have a right to seek the enforcement of the above-
mentioned rights. This is called the Right to Constitutional Remedies
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Freedom of
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Key Words-

Mind map

Amnesty International: An international organisation of volunteers
who campaign for human rights. This organisation brings out
independent reports on the violation of human rights all over the world.



Claim: Demand for legal or moral entitlements a person makes on fellow
citizens, society or the government.

Covenant: Promise made by individuals, groups or countries to uphold a
rule or principle. It is legally binding on the signatories to the agreement
or statement.

Dalit: A person who belongs to the castes which were considered low and
not touchable by others. Dalits are also known by other names such as

the Scheduled Castes, Depressed Classes etc.

Ethnic group: An ethnic group is a human population whose members
usually identify with each other on the basis of a common ancestry. People
of an ethnic group are united by cultural practices, religious beliefs and
historical memories.

Traffic: Selling and buying of men, women or children for immoral
purposes.

Summon: An order issued by a court asking a person to appear before it.
Writ: A formal document containing an order of the court to the government
issued only by High Court or the Supreme Court.
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MCQ 1X10=10

1 About 600 hundred people from all over the world were put in a prison in Guantanamo Bay
by the

(a) US forces

(b) Japanese forces

(c) German forces

(d) British forces

2.Salman Rushdie’s book that has been banned in India on the ground that it is disrespectful
to prophet Mohammed is

(a) Mignight’s children

(b) Two years eight months

(c) The moor’s last sigh
(d) The Satami Verses




3.Which of the Fundamental Rights is called ‘the heart and soul’ of the Indian Constitution?
(a) Right to Equality

(b) Right to Freedom of Religion

(c) Right to Constitutional Remedies

(d) Cultural and Educational Rights

4.The National Human Rights Commission of India was set up in
(a) 1993

(b) 1994

(c) 1995

(d) 1996

5.Amnesty international works for

(@) human right

(b) trade unions

(c) poor children

(d) deprived people

6.A person who is arrested and detained shall be produced before the nearest magistrate
within a period of hours of arrest.

(@) 20

(b) 22

(c) 23

(d) 24

7.The country which denies freedom of religion is

(@) Israel

(b) Saudi Arabia

(c) Iran

(d) Yugoslavia

8.The right to seek the enforcement of all Fundamental Rights is called:
(a) Right against Exploitation

(b) Right to Freedom

(c) Right to Constitutional Remedies

(d) Cultural and Educational Rights

9.What did Dr. Ambedkar refer to the ‘Right to Constitutional Remedies’ as?
(@) The brain of our Constitution

(b) The heart and soul of our Constitution

(c) The heart of our Constitution

(d) the soul of our Constitution

10.Which of the following freedoms is not available to an Indian citizen?
(a) Freedom to criticise the government

(b) Freedom to participate in armed rebellion

(c) Freedom to reside in any part of the country

(d) All the above
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(C) AR TTAYTeT T e
(d) BFR TiaYTeT Fr 3TcaT
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MCQ Answers-

1. A

2. D

3. C

4. A

5. A

6. D

7. B

8. C

9. B

10. B

2 MARKS QUESTIONS( 2X4)

1.What are rights?

Answer :Rights are reasonable claims of persons over other fellow beings over the society,
and over the government recognised by society and sanctioned by law.

2.What is Public Interest Litigation?

Answer:

Under the PIL, any citizen or group of citizens can approach the Supreme Court or a High
Court for the protection of public interest against a particular law or action of the
government. One can write to the judges even on a postcard. The court will take up the
matter if the judges find it in public interest.

3.Mention any two rights which the Constitution of South Africa guarantees to its citizens.
Answer:

i.Right to privacy, so that citizens or their home cannot be searched, their phones cannot be
tapped, their communication cannot be opened.

ii .Right to an environment that is not harmful to their health or well-being.
4.India is a secular state’. Justify by giving examples.

Answer:

i. People of India are free to follow any religion.

i1. India doesn’t have any official religion.

iii. Every religious group or sect is free to manage its religious affairs.
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3 MARKS QUESTION 3X5

1.Mention three major Constitutional provisions for the protection of women and children in
India.

The Right to Equality: Under this the State can make special provisions for women and
children.

Right Against Exploitation: Under this traffic in human beings, especially women and
children, shall be an offence punishable in accordance with the law.

Right Against Exploitation: Under this no child below the age of 14 years shall be employed
to work in any factory or mine or engaged in any other hazardous employment.

2. When Madhurima went to the property registration office, the exercises Registrar told her,
“You can’t write your name as Madhurima Banerjee d/o A. K. Banerjee. You are married,
you must give your husband’s name. Your husband’s surname is Rao. So your name should
be changed to Madhurima Rao.” She did not agree. She said, “If my husband’s name has not
changed after marriage, why should mine?” In your opinion who is right in this dispute? And
why?



Answer.

Madhurima is right. The registrar is violating her right to freedom. The question of choosing
a surname of her husband’s or her father is totally Madhurima’s discretion. By insisting her
to adapt to her husband’s surname, the registrar violated her right to choose and her right to
privacy.

3.Write short note on amnesty international?

Amnesty International (commonly known as Amnesty and Al) is a non-governmental
organization that works for the upliftment of human rights and has a supporter list of close to
7 million around the world.

There are members of Amnesty International in more than 140 countries and territories
around the world.

Al throws light on human rights violations by governments, armed political groups,
companies, etc., via different sources like newsletters, annual reports, and background
papers.

4. What was the basic reason for the ethnic massacre in Kosovo?
Answer:

i.Kosovo was a province of Yugoslavia before its split. In this province, the population was
overwhelmingly ethnic Albanian.

ii. But, in the entire country, Serbs were in majority. A narrow-minded Serb nationalist
Milosevic had won the election.

iii His government was very hostile to the Kosovo Albanians. He wanted the Serbs to
dominate the country.

iv Many Serb leaders thought that Ethnic minorities like Albanians should either leave the
country or accept the dominance of the Serbs.
v.This massacre was being carried out by the army of their own country, working under the
direction of a leader who came to power through democratic elections.
vi. This was one of the worst instances of killings based on ethnic prejudices in recent times.
Finally, several other countries intervened to stop this massacre.

Milosevic lost power and was tried by an International Court of Justice for crimes against
humanity.

5. Explain the ‘Right to Equality’ enjoyed by the citizens of India.

Answer:

All citizens irrespective of caste, colour, region, religion, ethnicity, sex or place of birth are
equal before the law.

Every citizen shall have the access to public places like shops, restaurants, hotels, and
cinema halls.

There shall be no restriction with regard to the use of wells, tanks, bathing ghats, roads,
playgrounds and places of public resorts maintained by the government or dedicated to the
use of public.

All citizens shall have equal opportunity in matters of employment.
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5 MARKS QUESTIOS 5X2=10
Question 1.
‘The Right to Freedom is actually a cluster of several rights.” Explain.

e Freedom to live in any part of India: All citizens are free to live in any part of
India but State can put restrictions keeping in mind the welfare of local people.
Freedom to practice any profession or occupation: All citizens have the right to
practice any profession or to carry on any occupation, trade or business.

e Right to Free Movement: Every citizen of India has been granted freedom to
move throughout the Indian territory.

o Freedom to Assemble Peacefully: Indian citizens have been given the right to
assemble without arms.

o Freedom of Speech and Expression: Democracy is a government by citizens.
Freedom of speech and expression works as a barometer of public opinion.

Right to Form Associations or Unions: The Constitution guarantees the right to form
associations and unions to every citizen of India.
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2.Why do we need rights in a democracy?
Ans.Fundamental Rights provide the conditions which are essential for the development of
the inherent qualities in man and to secure his all-round growth.

o These are necessary to preserve human dignity and promote social progress in
an atmosphere of freedom.
« These provide civil liberties, without which democracy cannot be even
conceived.
e These are a significant check on the arbitrary use of power by the government.
e Rights protect minorities from the oppression of majority.
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Topics in the chapter

Overview

Introduction

Organization of Production
Farming in Palampur

Non-Farm Activities in Palampur

Overview of Palampur

Palampur village is similar to one we saw in the research study of Gilbert Etienne.
Palampur has pucca roads that can withstand winter, rain and summer. This road
connects Palampur village to their neighbouring village, Raigan,.

Various types of vehicles ply on Palampur road, like bullock carts, tongas,
tractors, jeeps, motorcycles, trucks etc.

Avalilability of Electricity in Palampur. Many houses have electricity and tube-wells
are powered by electricity.

There are 2 primary schools and 1 high school for the students of Palampur.
There is one government run primary health care and one private dispensary in

Palampur village.
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QI. ‘Bigha’ and ‘Guintha’ are

(a) the type of village house

(b) the type of hybrid seeds

(c) the measuring units of grain

(d) the measuring units of land area in village
Answer
Answer: (d) the measuring units of land area in village

Q2. el s aTy il HTfeld et & fIT SETv 1T faet &1 gl ST &
(T) 31 H
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(3N gl

3d¥
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Q2. Finance raised to operate a business is called
(@) labour

(b) enterprise

(c) land

(d) capital

Answer

Answer: (d) capital

Q3. Wl & AT Ik T S &
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(@) FAT

(ST 39 FHY

3

3% (37) 3TRNFT T

Q3. The new ways of farming need
(@) less land

(b) more capital

(c) machinery

(d) all of the above

Answer

Answer: (d) all of the above

Q4. 3cUTE T HallftIeh T R &



(T) 31 H

(&) s1fa

(&) FMT

@& | 3T T
3R

3 (T) &1

Q4. The most abundant factor of production is
(a) labour

(b) land

(c) machinery

(d) all of the above

Answer

Answer: (a) labour

Q5. =TTl & & shleT T Teh 3MeIfieh Well b1 W11 6T &
(T) fAET =T &ToT

(&) =it T herg

(&) 3Tl H AT

(3T) STeT FGoT

3R

FAX: (37) STel FeuoT

Q5. Which one of the following is not an effect of the modern farming
(a) Soil degradation

(b) Deforestation

(c) Decrease in groundwater

(d) Water pollution

Answer

Answer: (d) Water pollution

Q6. TTerHYY 3 3TRahTer B¢ fahaTet Torerett i sgaear st & forw S 3uR &gl @ o
J
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Q6. Where do most of the small farmers borrow money to arrange for the capital in Palampur
(a) Banks

(b) Co-operative Societies

(c) Village money lenders

(d) Friends and relatives

Answer

Answer: (c) Village money lenders
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(T) ST =T

(&) FSI T 3G
GHECERICC)

(1) 37eATST 3cqTGeT
3

3R () GIY ScuTeH

Q7. ‘Operation Flood’ is related to:
(a) control flood

(b) produce fish

(c) milk production

(d) grain production

Answer

Answer: (c) milk production

Q8. A & 5T T=T H TIIfAT 39! T @I Halfde §?
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3d¥
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Q8. Consumption of chemical fertilisers is highest in which state of India
(@) Punjab

(b) Haryana

(c) Rajasthan

(d) Himachal Pardesh

Answer

Answer: (a) Punjab
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Q9. Who is a person who puts together land, labour and capital
(a) Moneylender

(b) Entrepreneur

(c) Zamindar

(d) Manager

Answer

Answer: (b) Entrepreneur

Q10. 317 39T &1 aTell fhEd (TTarsd)) & et A fad P aa &
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Q10. High Yielding Variety (HYV) seeds are developed in
(a) Research institutes

(b) Factories

(c) Krishak Bharati Cooperatives

(d) None of the above

Answer
Answer: (a) Research institutes
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Q11. What are the essential four requirements for production

Answer: The essential four requirements for production of goods and services are:

e Land, and other natural resources like water, forests, minerals.

e Labour, i.e., people who will do the work. Each worker is providing the labour
necessary for production.

e The third requirement is physical capital, i.e., variety of inputs required at every stage
during production.

e The fourth requirement is knowledge and enterprise to be able to put together land,
labour and physical capital and produce an output.
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Q12. What was the major disadvantage associated with HY'V seeds. Explain.
Answer:
The biggest disadvantage associated with HY'V seeds is the requirement of plenty of
water and chemical fertilisers and pesticides to produce best results. Higher yields are
possible only from combination of HYV seeds, irrigation, chemical fertilisers, pesticides,



etc. Chemical fertilisers and pesticides degrade our environment by killing necessary
bacteria in soil. Poor farmers cannot afford HYV seeds due to increased requirement of
fertilisers and machinery. New machinery replaced manual labour leading to
unemployment and rural-urban migration.
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Q13. Write a short note on shopkeeping, a non-farming activity in village Palampur. Answer:
There are very less people involved in trade in Palampur. The traders of Palampur are
shopkeepers who buy various goods from wholesale markets in the cities and sell them in
the village. There are small general stores in the village selling a wide range of items like
rice, wheat, sugar, tea, oil, biscuits, soap, toothpaste, batteries, candles, notebooks, pen,
pencil, even some clothes. A few of the families whose houses are close to the bus stand
have used a part of the space to open small shops. They sell eatables.
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Q14. Mention the main features of the Green Revolution. What are the harmful effects of the
Green Revolution.

Answer: The main features of Green Revolution are:

e Increase in the production of wheat and rice.

e Use of chemical fertilizers.

e Use of insecticides and pesticides.

* Use of High Yielding Varieties (HYVs) of seeds.

e Mechanisation of agriculture. (Any three)

The harmful effects of the Green Revolution are:

* The Green Revolutions is responsible for the loss of soil fertility due to increased use

of chemical fertilizers.



e The chemical fertilizers provide minerals which dissolve in water and are
immediately available to plants. But, these may not be retained in the soil for long.
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Q15. How did Mishrilal managed to get a small profit in his business
Answer:
Mishrilal has purchased a mechanical sugarcane crushing machine that run on
electricity and has set it up on his field. Sugarcane crushing was earlier done with the
help of bullocks, but people prefer to do it by machines these days.
Mishrilal also buys sugarcane from other farmers and processes it into jaggery. The
jaggery is then sold to traders at Shahpur. In the process, Mishrilal makes a small
profit.
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SOURCE BASED QUESTION: Read the following passage s and answer the questions that
follow
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QL. Distinguish between Fixed, Working and Human Capital
Fixed Capital Working Capital | Human Capital
(i)Tools, machines, (ii) Fixed capital | Human capital includes
buildings etc. which can be | cannot be competent and trained people
used in production over changed or built- | who put together land, capital
many years is called fixed in short period of | and other factors of production
capital. time to produce goods
The factors of production Working capital Human capital can be built
which are used up in the can be changed only in the long run through




production process are
known as working capital

short period

education and training.
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Q2. How are traditional seeds different from HYV sees?

Answer

HYV Seeds Traditional Seeds

Q) HYV seeds produce more output per | Traditional seeds produce less output per
hectare. hectare.

(i)  HYV seeds need irrigation. Traditional seeds needed less irrigation

(iii) HY'V seeds need modem inputs like
fertilizers, pesticides etc.

Traditional seeds needed inputs which
were readily available with the farmers who
did not have to buy these from the market.
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Graph 1.1: Distribution of Cultivated Area
and Farmers

Cultivated Area Number of Farmers
36%

80%

G64% A
0 Small farmers 0 Medium and
[Less than 2 ha.) Large farmers

[More than 2 ha.)

Source: Agricultural statistics at glance 2006:
Dept of a.%riculturc and cooperation,
Ministry of agriculture, Govt of India.

Would you agree that the distribution of cultivated land is unequal in Palampur. Do you find
a similar situation for India Explain.
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Q2.

Let us take three farmers. Each has grown wheat on his field though the production is
different (see Column 2). The consumption of wheat by each farmer family is the same
(Column 3). The whole of surplus wheat this year is used as capital for next year's
production. Also suppose, production is twice the capital used in production. Complete the
tables.

Farmer 1
Production Consumption Surplus = Capital for the
Production - next year
Consumption
Year 1 100 40 60 60
Year 2 120 40
Year 3 40
Farmer 2
Production Consumption Surplus Capital for the
next year
Year 1 80 40
Year 2 40
Year 3 40
Farmer 3
Production Consumption Surplus Capital for the
next year
Year 1 60 40
Year 2 40
Year 3 40

Compare the production of wheat by the three farmers over the years.
What happens to Farmer 3 in Year 3? Can he continue production? What will he have to do
to continue production?

TOPIC PEOPLE AS RESOUREC
MIND MAP
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Human Resource
(1) People as resource is a way of referring to a country’s working people, in terms of their
existing productive skills and abilities.

(i1) When the existing ‘human resource’ is further developed by becoming more educated
and healthy, we call it human capital formation. It adds to the productive power of the
country.

(iii) Investment in human capital (through education, training, medical care) yields a
investment in physical capital.

(iv) Human capital is in one way superior to other resources like land and physical capital
because human resource can make use of land and capital.
(v) Land and capital cannot become useful on their own.

(vi) For many decades in India, a large population has been considered a liability rather than
an asset.

(vii) A large population can be turned into a productive asset by investment in human capital
i.e., by spending resources on education and health for all.

Economic Activities by Men and Women

Various economic activities have been classified into 3 sectors i.e., primary, secondary and
tertiary.

(i) Primary Sector Primary sector includes agriculture forestry, animal husbandry, fishing,
poultry farming and mining.

(if) Secondary Sector Manufacturing and construction are included in the secondary sector.

(iii) Tertiary Sector Trade, transport, communication, banking, education health, tourism
services, insurance etc are included in the tertiary sector.

Defining Economic Activities Economic activities also called market activities are those
activities in which income is got in return for the work done.

(i) Market Activities These involve remuneration to anyone who performs the activity, i.e.,
activity performed for pay or profit.



These include production of goods and services and also includes government service.

(if) Non Market Activities Non market activities production for self consumption. These can
be consumption and processing of primary products and own account production of fixed
assets.

Division of Labour Between Men and Women

(1) Due to historical and cultural reasons, there is a division of labour between men and
women in the family.

(i) Women generally look after domestic work and men work in the fields. The women who
work in the homes are not paid anything, while the men who work outside the homes

earn wages.

(iii) Women get paid for their work only when they enter the labour market.

(iv) The earnings of women are determined on the basis of skill and education.

(v) Education and skill are the major determinants of the earning of any individual in the
market.

(vi) Women have very less education and low skill formation and are paid lower compared to
men.

Quality of Population

(i) The quality of population depends upon the literacy rate ,health and skill formation.
(ii) Health of a person is indicated by life expectancy.

(iii) The quality of the population decides the growth rate of the country.

(iv) lliterate and unhealthy population are a liability for the country.

Education

(i) Advantages

(a) Education contributes towards the growth of society. It enhances the national income,
pultural richness and the efficiency of governance; it helps to get jobs and increase
income.

(b) Literacy rates have increased from 18% in 1951 to 65% in 2001.

(c) Literacy among males is nearly 50% higher than females and is about 50% higher in
urban areas compared to rural areas.

(ii) Steps to Spread Education

(a) Sarva Siksha Abhiyan is a significant step towards providing elementary education to all
children in the age group of 6 to 14 years by 2010.

(b) Midday Meal scheme has been implemented in schools to encourage attendance and
retention of children and improve their nutritional st
Health



(i) The health of a person helps him to realise his potential and the ability to fight illness.

(if) An unhealthy person becomes a liability for an organisation. Health is an indispensable
basis for realising one’s well being.

(iii) The National Health Policy too, aims at improving the accessibility of health care, family
welfare and nutritional services especially for the weaker and the underprivileged sections of
society.

Unemployment

It is said to exist when people who are willing to work at the going wages cannot find jobs.
(a) Seasonal unemployment

Seasonal unemployment happens when people are not able to find jobs during some months
of the year due to seasonal nature of the work.

(b) Disguised Unemployment :

* In the case of disguised unemployment, people appear to be employed but they are not
working to their full potential.

* A family of 8 persons are working on a farm whereas the work requires the service of 5
people only. The remaining 3 persons are extra though they are working on the farm

They are said to be disguisedly unemployed.

(c) Educated Unemployment In case of urban areas educated unemployment has become a
common feature.

Choose the correct answer

MCQ

1 Which of the following is the most labour absorbing sectors of the Indian economy?
(a) Primary sector (b) tertiary sector
(c) Secondary sector (d) Private sector

Answer: (a) Primary sector

2 Which of the following is included in the primary sector?
(a) Manufacturing (b) Tourism (c) Forestry (d) Communication

Answer: (c) Forestry.

3 Which of the following is included in the tertiary sector?
(@) Fishing  (b) Trade (c) Mining  (d) Health
Answer: (d) Health

4 Which of the following is included in the secondary sector?
(a) Poultry farming  (b) Manufacturing  (c) Transport  (d) Quarrying

Answer: (b) Manufacturing
5 Investment in human capital can be made through
(@) Education (b) Training (c) Medical care  (d) All the three

Answer: (d) All the three



6 The literacy rate during 2010-11 was
(@) 64% (b) 74% (c) 70% (d) 80%

Answer: (b) 74%
7 Which of the following sectors faces the problem of seasonal unemployment?
(@) Agriculture  (b) Service sector (c) Trade  (d) IT sector

Answer: (a) Agriculture

8 Infant mortality rate is the death of a child under
(@) One year (b) Three, year (c) Two year (d) Four year

Answer: (a) One year

.9 The workforce population includes people from 15 years to
(@) 59 years  (b) 62 years (c) 60 years  (d) 65 years

Ans (c) 60
10Which age group of children does the Sarva Siksha Abhiyan aim to promote education?
(@) 6to 10 years (b)5to 3years (c)6to 14 years (d)7to 12 years

Answer: (c) 6 to 14 years
Very Short Questions

1 What do you mean by “Birth Rate”?:

Ans Birth rate is the number of babies born for every 1,000 people during a

particular period of time.

2 When we refer to a person as a ‘resource’, we are referring to which of his/her  skills?:
Ans When a person is referred to as a resource, it refers to that person’s productive skills and
abilities.

3 What is the main purpose of mid-day meal scheme?:

Ans Mid-day need scheme has been implemented to encourage attendance and retention of
children and improve their nutritional status.

4 What is the reason behind the development of vocational streams?

Ans Vocational streams have been enveloped to equip large number of high school students
with occupations related to knowledge and skills.

5 Which sector of the Indian economy absorbs the maximum labour?:
Ans Agriculture is the most labour-absorbing sector of the economy.
6 What do you understand by the term “Sarva Siksha Abhiyan”?

Ans Sarva Siksha Abhiyan is a flagship programme of Government of India that aims to
provide elementary education to all children in the age group of 6 to 14 years..

7 What is the name of the school set in each district by the government for the talented
students of a rural area?

Ans Navodaya Vidyalaya.
8 What is the current literacy rate of India, according to Census of 2011?

Ans According to Census of 2011, the literacy rate of India is 74 per cent.



Short Questions
1 What is the main difference between ‘Human Capital’ and ‘Human Capital Formation’?

Ans Human Capital: Population becomes human capital when there is investment made in
the form of education, training and health care.

Human Capital Formation: When the existing ‘human resource’ or ‘human capital’ is further
developed by becoming more educated and healthy, it is known as human capital formation..
2 List the demerits of increase in population.

Ans The demerits of population increase are :

e The per capita income drops.

« Non-productive force increases.

e The people below poverty line increases.

e Resources like land, factories or other tools and machinery are divided into more
persons so profit becomes divided.

e Slums come up.

e Unemployment increases.
3 What is the importance of education.:
Ans the importance of education is as follows:

o It helps a person to realise his potential and the ability to do work.

o It provides new aspiration. It develops values of life. It contributes towards the growth
of society also.

« It enhances the national income, cultural richness and increases the efficiency of
governance.

e Long Question
1 List down the disadvantages of unemployment.

Ans the disadvantages of unemployment are:

o It leads to wastage of manpower resource. People who are an asset for the economy,
turn into liability Inability of educated people who are willing to work to find gainful
employment implies a great waste.

o Unemployment is a social evil. Unemployed people are frustrated class. There is a
feeling of helplessness and despair among the youth. Unemployment creates social
unrest and tension. It leads to oppression and exploitation in the society.

« It tends to increase economic overload. The dependence of the unemployed on the
working population increases.

2 Distinguish between market activities and non-market activities.
Or
What are the two types of economic activity? Explain.

o Ans Market Activities: Market activities involve remuneration to anyone who
performs, i.e., activity performed for pay or profit. These include production of goods
or services including government service.

o Non-market Activities: Non-market activities are the production for self-consumption.
These can be consumption and processing of primary product and own account
production of fixed assets.



e 3 Suggest any three ways to transform population load into an asset.
Ans the three ways to transform population load into an asset are:

e To improve literacy rate: Education provides new aspiration and develops values of
life. Education helps in enhancing the national income, cultural richness and increases
the efficiency of governance.

« Health: The health of a person helps him to realise his potential and the ability to fight
illness. Increase in longevity of life in an indicator of good quality of life marked by
self-confidence. It involves the protection of children from infection, ensuring nutrition
and along with mother and the child and child care.

o Formation of skills: Providing vocational and skill-based education helps the people to
get employment and therefore, they contribute to the national income later.

4 What is the nature of unemployment in India?

Ans In India, unemployment is widespread. Unemployment is found both in its rural and
urban areas. There is seasonal and disguised unemployment in its rural areas. People here are
dependent on agriculture. Certain months do not provide much work to the people dependent
upon agriculture.

In urban areas, educated unemployment has become a serious problem. Many educated
youths are not able to find jobs. Unemployment among graduates and post-graduates has
increased faster than among the matriculates.
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POVERTY AS CHALLENGE

Poverty as a challenge

. Poverty is the most difficult challenge faced by independent India.



‘Poverty is a condition in which a person lacks the financial resources and essentials things to
enjoy minimum standards of life
Vulnerability
Vulnerability to poverty is a measure, which describes the greater probability of certain
communities e.g. members of a backward caste or individuals e.g. widow, physically
handicapped person of becoming or remaining poor in the coming time.
Vulnerability is determined by various options available to different communities in terms of
assets, education, job, health, etc and analyse their ability to face various risks like natural
disasters. The group which face greater risk at the time of natural calamity are called
vulnerable groups.

Poverty line

Poverty line is an imaginary line used by any country to determine its poverty. It is
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considered appropriate by a country according to its existing social norms. It varies from
time to time, place to place and country to country.

Poverty Line Estimation in India

In India, a subsistence level or minimum level of food requirement (as determined by its
calorific value), clothing, footwear, fuel, lighting,-educational and medical requirements, etc
are determined for estimating the poverty line. Since ih rural and urban areas, the nature of
work and the prices of goods are different, the calorific requirement and expenditure per
capita are also different.

Poverty Trends In India
There is a decline in poverty ratios in India from about 45% in 1994 to 21.9% in 2012. If the
trend of declining poverty ratios in India continues at this rate, then the poverty line may
reduce 20% in the next few years.

Group Vulnerable to Poverty
Poverty among social groups and economic categories varies widely in India. Social
vulnerable groups are the households of the Scheduled Castes (SCs) and Scheduled Tribes
(STs). Economically vulnerable groups comprise rural landless labour households and urban
casual labour households.
However, during the last few years, all these groups except the Scheduled Tribes group, have
witnessed a decline in poverty.

Inter-State Disparities

2020



The proportion of poor people is not the same in every state. Recent estimates show while the
all India HCR was 21.9% in 2011-12, states like Madhya Pradesh, Assam, Uttar Pradesh,
Bihar and Orissa had all India poverty level.
Bihar and Odisha continue to be the two poorest states with poverty ratios of 33.7% and
37.6% respectively. Alongwith rural poverty, urban poverty is also high in Odisha, Madhya
Pradesh, Bihar and Uttar Pradesh.
In states like Kerala, Jammu and Kashmir, Andhra Pradesh, Tamil Nadu, Gujarat, West
Bengal, there is a significant decline in poverty. The states successful in reducing poverty
have adopted different methods for doing so.

Causes of Poverty
Poverty continues in India for a variety of reasons These are-
*Historically, there was a low level of economic development under the British colonial
administration prior to 1947. They discouraged traditional handicrafts and also industrial
development, reducing job opportunities and income growth.

Anti-Poverty Measures
*Removal of poverty has been one of the major objectives of Indian developmental strategy.
*The current anti-poverty strategy of the government is based on the following two objectives
Targeted Anti-Poverty Programmes

Summary

The most difficult challenge faced by independent India is poverty.

India has the largest single concentration of the poor in the world, where every fourth person
IS poor.

Social scientists analysis poverty from many aspect besides level of income and
consumption.

These aspects include poor level of literacy, lack of job opportunities etc.

Social exclusion aneb* vulnerability are the most commonly used indicators for poverty
analysis.

The poverty line is an imaginary line used by any country to determine is poverty. It varies
time to time, place to place and country to country.

The most common method of determining poverty is income or consumption levels.

The calorific requirement and expenditure per capita are different for urban and rural areas.
Surveys for determining poverty lines are carried out by the National Sample Survey
Organisation (NSSO).

The organisation is under the Ministry of statistics and programme implementation of the
Government of India.

Poverty among social groups and economic categories varies widely in India.

Female infants, women and elderly member are not given equal access to resources available
to the family.

Bihar and Odisha continue to be the two poorest states with poverty ratios of 33.7% and
37.6% respectively.

In states like Kerala, Andhra Pradesh, Gujarat, there is significant decline in poverty.

The proportion of people living under poverty in different countries is defined by the
international poverty line i.e. population below $ 1 a day.

There is decline in poverty in South-East Asia and China due to rapid economic growth and
massive investment in human resource development.

The Millenium Development Goals of the United Nations formulated in 2000, call for
reducing the proportion of people living on less than $ 1 a day to half the 1990 level by 2015.
There are many causes for the prevalence of poverty in India like unemployment, low
economic development and income inequalities.

Removal of poverty has been one of the major objectives of Indian developmental strategy.
There is a strong linkage between economic growth and poverty reduction.

The Government of India introduced targeted anti-poverty programmes starting from 1990.
Of life like food ,

Poverty reduction is still a major challenge in India, due to the wide differences between
regions as well as rural and urban areas.



We hope the given Poverty as a Challenge Class 9 Notes Social Science Economics Chapter
3 SST Pdf free download will help you. If you have any query regarding Poverty as a
Challenge Class 9 Economics Chapter 3 Notes, drop a comment below and we will get back
to you at the earliest.

KEY WORDS :

1)Poverty : It is a state in which people do not have sufficient income to fullfil the basic
necessities of life like food, clothing,and shelter.
2) Relative Poverty : It refers to poverty of people in relation to other people , regions , or
notions
3) Absolute Porverty : It refers to the total number of people living below poverty line
4) Poverty Line : It is the level of income which divides the population as poor and non-poor
. It is drawn on the basis of minimum consumption expenditure.
5) International Porverty Line: It is defined by world bank as an income of less than $1 per
day.

MULTIPLE CHOICE QUESTIONS (1 Marks)

Question 1:

NFWP is stand for:

(a) National Federation for Work and Progress
(b) National Forest for Wildlife Protection

© National Food and Wheat Processing

(d) National Food for Work Programme

Answer: (d) National Food for Work Programme.

Question 2.

How many people in India live below the poverty line?
(@) 30 crores

(b) 26 crores

© 28 crores

(d) 24 crores

Answer: (b) 26 crores

Question 3.

Which social group is most vulnerable to poverty in India?
(a) Scheduled castes

(b) Scheduled tribes

© Casual labourers

(d) All the above

Answer: (d) All the above

Question 4.

Poverty line in rural areas is (As per 1999 — 2000 prices)
(a) Rs 328

(b) Rs. 370

© Rs 454

(d) Rs. 460

Answer: (a) Rs 328

Question 5.

What is the poverty ratio in the state of Orissa?
(a) 50%

(b) 47%

© 60%

(d) 57%



Answer: (b) 47%

Question 6.

In which state have the land reform measures helped to reduce poverty?
(a) Tamil Nadu

(b) Punjab

© West Bengal

(d) Kerala

Answer: © West Bengal

Question 7.

In which state is the public distribution system responsible for the reduction in poverty?
(@) Andhra Pradesh

(b) Tamil Nadu

© Both (a) and (b)

(d) None of the above

Answer: © Both (a) and (b)

Question 8.

Which of the following is responsible for high poverty rates?
(a) Huge income inequalities

(b) Unequal distribution of land

© Lack of effective implementation of land reforms

(d) All the above

Answer: (d) All the above

Question 9.

Nutritional level of food energy is expressed in the form of
(a) calories per day

(b) wheat consumption

© rice consumption per day

(d) none of the above

Answer: (a) calories per day

Question 10.
Poverty ratio in India as compared to Pakistan is
(a) same
(b) half
(c) Two Timesrffv
(d) two and a half timesi;j
Answer: © two times
SHORT QUESTIONS ( 3 Marks )

Question 1.
What are the indicators used by social scientists to understand poverty?

Answer:
The indicators used by social scientists to understand poverty are :
*Levels of income and consumption
*Lack of general resistance due to malnutrition
*Lack of access to healthcare
*Lack of job opportunities
*Lack of access to safe drinking water, sanitation, etc.
Question 2.



What do you understand by vulnerability to poverty?
Answer:

Vulnerability of poverty means some communities or social groups are more prone to
poverty than other sections of the society. Members of a backward caste or individuals such
as a widow or a physically handicapped person of becoming, or remaining, poor in the
coming years. Vulnerability is determined by the options available to different communities
for finding an alternative living in terms of assets, education, health and job opportunities.
Further, it is analysed on the basis of the greater risks these groups face at the time of natural
disasters (earthquakes, tsunami), terrorism, etc.

Question 3.
How were the British policies responsible for the increase in poverty in India?

Answer:
There were a number of causes for the widespread in India. One of the historical reasons is
the low level of economic development under the British colonial administration. The
policies of colonial government ruined traditional handicrafts and discouraged development
of industries like textiles. The low rate of growth persisted until the nineteen-eighties. This
resulted in less job opportunities and low growth rate of incomes. This was accompanied by a
high growth rate of population. The two combined to make the growth rate of per capita
income very low.

LONG QUESTIONS ANSWER ( 5 Marks )

Question 1.
How does rapid growth rate of population increase poverty in a country?

Answer:
*Rapid growth of population in comparison to the rate of growth of resources hampers the
process of economic development.
*Increase in population reduces the per capita income and lowers the standard of living in an
economy.
*In India, rapid growth of population has put in more stress on its economic and social
infrastructure and thereby, aggravating the problem of poverty and unemployment.
*Due to enormous population, a large portion of national income is used on consumption and
less is left for saving which, in turn, reduces the capital formation.
*As a result of low capital formation, enough employment opportunities cannot be created
which further aggravate the problem of poverty. Poor people in India are ignorant, illiterate
and has very less means of entertainment. So, they end up adding more to the population.

Question 2.
What is poverty? What are the dimensions of poverty?

Answer:
*Poverty is a situation in which a person is unable to get the minimum necessities of life.
*Due to poverty poor people are in a situation in which they are ill-treated at almost every
place.
The dimensions of poverty are :
*Poverty means hunger and lack of shelter.
*It is a situation in which parents are not able to send their children to school or a situation
where sick people cannot afford treatment.
*Poverty also means lack of clean water and sanitation facilities.
+It also means lack of a regular job at a minimum decent level. :
*Poor people are in a situation in which they are ill-treated at almost every place, in farms,
factories, government offices, hospitals, railway stations etc.

CASE BASED QUESTIONS



Particularly in surplus states ,to divert land from production of course grains , which is the
staple food of poor to the production of rice and wheat. The intensive utilisation of water in
the cultivation of rice has also led to environmental degradation and fall in the water level
Jthreatening the sustainability of the agricultural development in these states.
Question:
Some economics have a post the idea of providing MSP to farmers ,which among the
following is oppropriate reasons?
a) Division of land from coarse grain to rice and wheat
b) MSP promote multiple cropping
c) It promote management of crops
d) Makes agriculture more sustainable
Answer:
a) Division of land from coarse grain to rice and wheat
ASSERTION/ REASON
ASSERTION : POVERTY LINE IS AN IMAGINARY LINE USED BY ANY COUNTRY
TO DETERMINE ITS POVERTY
REASON: IT VERY TIME TO TIME PLACE TO PLACE AND COUNTRY TO
COUNTRY
CODES:
a) Both A and R are true and R is correct explanation of A
b) Both A and R are true , but R is not correct explanation of A
c) Atrue, but R is not R is false
d) Ais false , but R is true
Answer:
b) Both A and R are true , but R is not correct explanation of A
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CLASS 9 CHAPTER-3
POVERTY AS CHALLENGE
Poverty as a challenge

— T

. Poverty is the most difficult challenge faced by independent India.
:Poverty is a condition in which a person lacks the financial resources and essentials things to
enjoy minimum standards of life
Vulnerability
Vulnerability to poverty is a measure, which describes the greater probability of certain
communities e.g. members of a backward caste or individuals e.g. widow, physically
handicapped person of becoming or remaining poor in the coming time.
Vulnerability is determined by various options available to different communities in terms of
assets, education, job, health, etc and analyse their ability to face various risks like natural
disasters. The group which face greater risk at the time of natural calamity are called
vulnerable groups.

Poverty line



Poverty line is an imaginary line used by any country to determine its poverty. It is
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considered appropriate by a country according to its existing social norms. It varies from
time to time, place to place and country to country.

Poverty Line Estimation in India
In India, a subsistence level or minimum level of food requirement (as determined by its
calorific value), clothing, footwear, fuel, lighting,-educational and medical requirements, etc
are determined for estimating the poverty line. Since ih rural and urban areas, the nature of
work and the prices of goods are different, the calorific requirement and expenditure per
capita are also different.

Poverty Trends In India
There is a decline in poverty ratios in India from about 45% in 1994 to 21.9% in 2012. If the
trend of declining poverty ratios in India continues at this rate, then the poverty line may
reduce 20% in the next few years.

Group Vulnerable to Poverty
Poverty among social groups and economic categories varies widely in India. Social
vulnerable groups are the households of the Scheduled Castes (SCs) and Scheduled Tribes
(STs). Economically vulnerable groups comprise rural landless labour households and urban
casual labour households.
However, during the last few years, all these groups except the Scheduled Tribes group, have
witnessed a decline in poverty.

Inter-State Disparities
The proportion of poor people is not the same in every state. Recent estimates show while the
all India HCR was 21.9% in 2011-12, states like Madhya Pradesh, Assam, Uttar Pradesh,
Bihar and Orissa had all India poverty level.
Bihar and Odisha continue to be the two poorest states with poverty ratios of 33.7% and
37.6% respectively. Alongwith rural poverty, urban poverty is also high in Odisha, Madhya
Pradesh, Bihar and Uttar Pradesh.
In states like Kerala, Jammu and Kashmir, Andhra Pradesh, Tamil Nadu, Gujarat, West
Bengal, there is a significant decline in poverty. The states successful in reducing poverty
have adopted different methods for doing so.

Causes of Poverty
Poverty continues in India for a variety of reasons These are-

2020



*Historically, there was a low level of economic development under the British colonial
administration prior to 1947. They discouraged traditional handicrafts and also industrial
development, reducing job opportunities and income growth.

Anti-Poverty Measures
*Removal of poverty has been one of the major objectives of Indian developmental strategy.
*The current anti-poverty strategy of the government is based on the following two objectives
Targeted Anti-Poverty Programmes

Summary

The most difficult challenge faced by independent India is poverty.

India has the largest single concentration of the poor in the world, where every fourth person
is poor.
Social scientists analysis poverty from many aspect besides level of income and
consumption.
These aspects include poor level of literacy, lack of job opportunities etc.
Social exclusion aneb* vulnerability are the most commonly used indicators for poverty
analysis.
The poverty line is an imaginary line used by any country to determine is poverty. It varies
time to time, place to place and country to country.
The most common method of determining poverty is income or consumption levels.
The calorific requirement and expenditure per capita are different for urban and rural areas.
Surveys for determining poverty lines are carried out by the National Sample Survey
Organisation (NSSO).
The organisation is under the Ministry of statistics and programme implementation of the
Government of India.
Poverty among social groups and economic categories varies widely in India.
Female infants, women and elderly member are not given equal access to resources available
to the family.
Bihar and Odisha continue to be the two poorest states with poverty ratios of 33.7% and
37.6% respectively.
In states like Kerala, Andhra Pradesh, Gujarat, there is significant decline in poverty.
The proportion of people living under poverty in different countries is defined by the
international poverty line i.e. population below $ 1 a day.
There is decline in poverty in South-East Asia and China due to rapid economic growth and
massive investment in human resource development.
The Millenium Development Goals of the United Nations formulated in 2000, call for
reducing the proportion of people living on less than $ 1 a day to half the 1990 level by 2015.
There are many causes for the prevalence of poverty in India like unemployment, low
economic development and income inequalities.
Removal of poverty has been one of the major objectives of Indian developmental strategy.
There is a strong linkage between economic growth and poverty reduction.
The Government of India introduced targeted anti-poverty programmes starting from 1990.
Of life like food ,
Poverty reduction is still a major challenge in India, due to the wide differences between
regions as well as rural and urban areas.
We hope the given Poverty as a Challenge Class 9 Notes Social Science Economics Chapter
3 SST Pdf free download will help you. If you have any query regarding Poverty as a
Challenge Class 9 Economics Chapter 3 Notes, drop a comment below and we will get back
to you at the earliest.

KEY WORDS :
1)Poverty : It is a state in which people do not have sufficient income to fullfil the basic
necessities of life like food, clothing,and shelter.
2) Relative Poverty : It refers to poverty of people in relation to other people , regions , or
notions
3) Absolute Porverty : It refers to the total number of people living below poverty line



4) Poverty Line : It is the level of income which divides the population as poor and non-poor
. It is drawn on the basis of minimum consumption expenditure.
5) International Porverty Line: It is defined by world bank as an income of less than $1 per
day.

MULTIPLE CHOICE QUESTIONS (1 Marks)

Question 1:

NFWP is stand for:

(a) National Federation for Work and Progress
(b) National Forest for Wildlife Protection

© National Food and Wheat Processing

(d) National Food for Work Programme

Answer: (d) National Food for Work Programme.

Question 2.

How many people in India live below the poverty line?
(a) 30 crores

(b) 26 crores

© 28 crores

(d) 24 crores

Answer: (b) 26 crores

Question 3.

Which social group is most vulnerable to poverty in India?
(a) Scheduled castes

(b) Scheduled tribes

© Casual labourers

(d) All the above

Answer: (d) All the above

Question 4.

Poverty line in rural areas is (As per 1999 — 2000 prices)
(@) Rs 328

(b) Rs. 370

© Rs 454

(d) Rs. 460

Answer: (a) Rs 328

Question 5.

What is the poverty ratio in the state of Orissa?
(a) 50%

(b) 47%

© 60%

(d) 57%

Answer: (b) 47%

Question 6.

In which state have the land reform measures helped to reduce poverty?
(a) Tamil Nadu

(b) Punjab

© West Bengal

(d) Kerala

Answer: © West Bengal

Question 7.



In which state is the public distribution system responsible for the reduction in poverty?
(@) Andhra Pradesh

(b) Tamil Nadu

© Both (a) and (b)

(d) None of the above

Answer: © Both (a) and (b)

Question 8.

Which of the following is responsible for high poverty rates?
(a) Huge income inequalities

(b) Unequal distribution of land

© Lack of effective implementation of land reforms

(d) All the above

Answer: (d) All the above

Question 9.

Nutritional level of food energy is expressed in the form of
(a) calories per day

(b) wheat consumption

© rice consumption per day

(d) none of the above

Answer: (a) calories per day

Question 10.
Poverty ratio in India as compared to Pakistan is
(a) same
(b) half
(c) Two Timesrffv
(d) two and a half timesi;j
Answer: © two times
SHORT QUESTIONS ( 3 Marks )

Question 1.
What are the indicators used by social scientists to understand poverty?

Answer:
The indicators used by social scientists to understand poverty are :
*Levels of income and consumption
*Lack of general resistance due to malnutrition
*Lack of access to healthcare
*Lack of job opportunities
*Lack of access to safe drinking water, sanitation, etc.

Question 2.
What do you understand by vulnerability to poverty?

Answer:
Vulnerability of poverty means some communities or social groups are more prone to
poverty than other sections of the society. Members of a backward caste or individuals such
as a widow or a physically handicapped person of becoming, or remaining, poor in the
coming years. Vulnerability is determined by the options available to different communities
for finding an alternative living in terms of assets, education, health and job opportunities.
Further, it is analysed on the basis of the greater risks these groups face at the time of natural
disasters (earthquakes, tsunami), terrorism, etc.

Question 3.
How were the British policies responsible for the increase in poverty in India?

Answer:



There were a number of causes for the widespread in India. One of the historical reasons is
the low level of economic development under the British colonial administration. The
policies of colonial government ruined traditional handicrafts and discouraged development
of industries like textiles. The low rate of growth persisted until the nineteen-eighties. This
resulted in less job opportunities and low growth rate of incomes. This was accompanied by a
high growth rate of population. The two combined to make the growth rate of per capita
income very low.
LONG QUESTIONS ANSWER ( 5 Marks )

Question 1.
How does rapid growth rate of population increase poverty in a country?

Answer:
*Rapid growth of population in comparison to the rate of growth of resources hampers the
process of economic development.
Increase in population reduces the per capita income and lowers the standard of living in an
economy.
In India, rapid growth of population has put in more stress on its economic and social
infrastructure and thereby, aggravating the problem of poverty and unemployment.
*Due to enormous population, a large portion of national income is used on consumption and
less is left for saving which, in turn, reduces the capital formation.
*As a result of low capital formation, enough employment opportunities cannot be created
which further aggravate the problem of poverty. Poor people in India are ignorant, illiterate
and has very less means of entertainment. So, they end up adding more to the population.

Question 2.
What is poverty? What are the dimensions of poverty?

Answer:
*Poverty is a situation in which a person is unable to get the minimum necessities of life.
*Due to poverty poor people are in a situation in which they are ill-treated at almost every
place.
The dimensions of poverty are :
*Poverty means hunger and lack of shelter.
«It is a situation in which parents are not able to send their children to school or a situation
where sick people cannot afford treatment.
*Poverty also means lack of clean water and sanitation facilities.
+It also means lack of a regular job at a minimum decent level. :
*Poor people are in a situation in which they are ill-treated at almost every place, in farms,
factories, government offices, hospitals, railway stations etc.

CASE BASED QUESTIONS

Particularly in surplus states ,to divert land from production of course grains , which is the
staple food of poor to the production of rice and wheat. The intensive utilisation of water
in the cultivation of rice has also led to environmental degradation and fall in the water
level ,threatening the sustainability of the agricultural development in these states.
Question:
Some economics have a post the idea of providing MSP to farmers ,which among the
following is oppropriate reasons?
a) Division of land from coarse grain to rice and wheat
b) MSP promote multiple cropping
¢) It promote management of crops
d) Makes agriculture more sustainable
Answer:
c) Division of land from coarse grain to rice and wheat
ASSERTION/ REASON
ASSERTION : POVERTY LINE IS AN IMAGINARY LINE USED BY ANY COUNTRY
TO DETERMINE ITS POVERTY
REASON: IT VERY TIME TO TIME PLACE TO PLACE AND COUNTRY TO
COUNTRY



CODES:
a) Both A and R are true and R is correct explanation of A
b) Both A and R are true , but R is not correct explanation of A
c) Atrue, but R is not R is false
d) Ais false , but R is true
Answer:
d) Both A and R are true, but R is not correct explanation of A
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Food Security in India

I8 3R 7 AMRE &1 RIS
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GIST OF THE LESSON AND MIND MAP:

Food security means availability, accessibility and affordability of food to all people at all times.
Food security depends on the Public Distribution System (PDS) and government vigilance and
action at times, when this security is threatened.

In Food Security in India introduction, you will get to know that food security does not only mean
that your food needs to be secured from contamination. In India, a food security system takes care
of the availability, accessibility, and affordability of the food so that people from different
financial status have no problem in buying food in India. Food Security in India depends on
government vigilance and the public distribution system. When the security of food is threatened,
the PDS comes to rescue and sort things out.

You will be studying what food security is. Also, food security officials have to deal with the
availability of the food to be given to every person living in India. The administration also takes
reasonable care to find out about the extra barriers that the locals are trying to put on the food
distribution.

Gist



What is food security?

Why food security?

Who are food-insecure?

Food Security in India

What is Buffer stock?

What is the Public Distribution System?
Current Status of Public the Distribution System
Role of cooperatives in food security
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Q1. When was Antyodaya Anna Yojana launched?
(a) 1990

(b) 1980

(c) 1990

(d) 2000

Answer

Answer: (d) 2000
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Q2. The success of wheat was replicated in
(@) pulses

(b) cotton

(c) rice

(d) bajra

Answer

Answer: (c) rice

TeeT 3. GaH fAAT/IRRY 37hTel STl & vl UST AT
(T) 1938

(sl1) 1940
(EY) 1942

(3N 1943
3

3T (31) 1943

Q3. The most devastating famine occurred in Bengal in
(a) 1938

(b) 1940

(c) 1942

(d) 1943

Answer

Answer: (d) 1943

9T 4. 3R Hed I Tl faeahcl @
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() g
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3

3% (3) 3Werd T

Q4. Fair price shops sell

(a) sugar

(b) kerosene oil

(c) wheat

(d) all of the above

Answer

Answer: (d) all of the above

R&T 5. 31l AT HEtT Th A AT A ?
(T) AGRISE

(&) IR

(&) afeas Farrer

(3N e

3R

3aR: (&) R

Q5. Which state is associated with AMUL?
(a) Maharashtra



(b) Gujarat

(c) West Bengal

(d) Kerala

Answer

Answer: (b) Gujarat
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3dY
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Q6. Annapurna Scheme fulfills the food requirements of:
(a) indigent senior citizens

(b) children

(c) pregnant ladies

(d) young persons

Answer

Answer: (a) indigent senior citizens

g2 7. I Y&Tel il o

() 200 et T AT I

(8 100 =it 1 AT I

(¥ I FATRET 1 ALt

(3N 3T A B IS Tt

33X

3eX: (&) 100 feAT 1 GATRTT 1o

Q7. NREGA provides:

(a) 200-days of assured work

(b) 100-days of assured work

(c) No assured work

(d) None of the above

Answer

Answer: (b) 100-days of assured work

SR 8. Wie T I&T 1 g7
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3d¥

34T (31) 3WITd T

Q8. What is Food security means:
(a) availability of food
(b) accessibility of food



(c) affordability of food
(d) all the above

Answer

Answer: (d) all the above

SIR5T 9. FIH oh ol JTeATol hRIshH el H & fohg a¥ # & fonar arar am
(T) 2003

(s 2001

(& 2004

(31 2005

3

3 (H) 2004

Q9. Food for Work Programme was launched in which of the following years?
(a) 2003

(b) 2001

(c) 2004

(d) 2005

Answer

Answer: (c) 2004

9T 10. HeX ST Ueh HEcd 0T HEhR TEATR
() TR
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3N

3 (3)) el

Q10. The Mother Dairy is an important cooperative in
(@) Gujarat

(b) Punjab

(c) Haryana

(d) Delhi

Answer

Answer: (d) Delhi

3 Marks Question

9eeT 11. AN 7EFd & fT 3eerR fhegl & wRepl 1 3eerd HIfSTT| AT 8@ Far g
ﬁﬂﬁ%@ﬂﬁ%ﬁvmﬁﬁa%l{%\i FT Ieolld AT

3l

» HIFHAY STGFERT $ISTeT 39T 3R HeTs & Tsh J T g | T IV it s Jas gepfar
& SHROT ITHIOT & A yafaad gl

« AR {T o TR hr AT o HROT A &1 H FHiger @A AT & |

Q11. Mention any two factors responsible for seasonal hunger. What is sesonal hunger. Mention
any two factors responsible for sesonal hunger.



Answer:

Seasonal hunger is related to the cycle of food growing and harvesting. This is prevalent in rural
areas because of the seasonal nature of agricultural activities.

Seasonal hunger is prevalent in urban areas due to lack of job opportunities.

TaT 12. ATdoifeleh [AcIR0T YOIl Sl GHSST | TSl [eleh 1A OT JUTTell (PDS) T IS al AT
CRIEN

3l

» 18T SeRT GaRT FHETAR I HERT ol |

» Gehlal ol HTAATAT GoaT|

Q12. Explain public distribution system. Mention any two limitations of the Public Distribution
System (PDS).

Answer:

Resorting of PDS dealers to malpractices.

Irregular opening of shops.

95T 13, T8I AT oleh TdaROT JOTTell &7 § ?

34

IS IGT A &1 {6 aTel TRART &bl wgeTcdd AT H WIehTo] &hl SUeTSET ot iRed hiet
forT, AXHR & ST 1997 3 TPDS AT Af&Tct Aot foleh [IdR0T JOTTell Y& T | SHHT 368 SAH
TITHIT OF I3 TN TRART T eI fead el AT foieteh forw wfer aRar s A1g 10 fomam &
eI H ITday 72 o T WieTedl foTaTRd fohdT 31T 2T

S T 811 7 IS I SATET Tel oh AU Sl 3TTTTs] oh [olT I2T FoRaT I1aT 27|

Q13. What is the Targeted Public Distribution System?

Answer:

In order to ensure availability of minimum quantity of food grains to the families living below the
poverty line, the Government launched the TPDS or the Targeted Public Distribution System in
June 1997. It was intended to benefit about six crore poor families in the country for whom a
quantum of 72 lakh tonnes of food grains was earmarked annually at the rate of 10kg per family
per month.

It was introduced to adopt the principle of targeting the ‘poor in all areas’.

5 Marks Question

UH 14. TghRI AATHAT 3R Wieg G hr $1fAhT I caredr |
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Q14. Explain the role of cooperatives and food security.

Answer

The cooperatives are also playing an important role in food security in India especially in the
southern and western parts of the country. The cooperative societies set up shops to sell low priced
goods to poor people. For example, out of all fair price shops running in Tamil Nadu, around 94
per cent are being run by the cooperatives. In Delhi, Mother Dairy is making strides in provision
of milk and vegetables to the consumers at controlled rate decided by Government of Delhi. Amul
Is another success story of cooperatives in milk and milk products from Gujarat. It has brought
about the White Revolution in the country. These are a few examples of many more cooperatives
running in different parts of the country ensuring food security of different sections of society.
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Q15. What is food security. Why is food security impottant?

Answer

What is food security?

Food security has the following dimensions

(a) availability of food means food production within the country, food imports and the previous
years stock stored in government granaries.

(b) accessibility means food is within reach of every person.

(c) affordability implies that an individual has enough money to buy sufficient, safe and nutritious
food to meet one’s dietary needs.

Food security is ensured in a country only if

(1) enough food is available for all the persons

(2) all persons have the capacity to buy food of acceptable quality



(3) there is no barrier on access to food.

Why food security?

During natural calamity such as drought, production of food grains get decreased, creating a
shortage of food in the affected areas. The prices get increased due to shortage of food. People
cannot afford to buy food and if such a calamity happens in a very wide spread area or is stretched
over a longer time period, it might cause a situation of starvation. Massive starvation might take a
turn into a famine. A Famine is characterised by widespread deaths due to starvation and
epidemics caused by forced use of contaminated water or decaying food and loss of body
resistance due to weakening from starvation.
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SOURCE BASED QUESTIONS
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Picture During the Bengal Famine of
Starvation victims arriving at a 1943, a family leaves its village
relief centre, 1945. in Chittagong district in Bengal.

What do you see in Picture?

Which age group is seen in the first picture?

Can you say that the family shown in the Picture is a poor family? why?

Can you imagine the source of livelihood of the people, (shown in two Pictures) before the
occurrence of famine? (In the context of a village)

Find out what type of help is given to the victims of a natural calamity at a relief camp.
Have you ever helped such victims (in the form of money, food, clothes, medicines etc.)
PROJECT WORK: Gather more information about famines in India.

Source: Department of Agricultural, Cooperation and Farmers Welfare, Ministry of Agriculture
and Farmers Welfare, Directorate of Economics and Statisties, 2020-21.

IMh T HEITA i 3R fAFafaf@a geat & 31

(V) ForE I AR X o WIEATeoT 3cUTGsT # 200 AT Tof Ui a9 &1 TR R fham?
(b) Fordr =1k & $TRA H WeHTew 3cUIee H HalTeh GRS I g3

(c) T R H 2000-01 H AR ScUTe Je e 8 6T 87

UH 2

Graph : Production of Foodgrains in India (Million Tonnes)
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(T) ¥ 2001-02 3R 2003-04 H §AR 2 o WIeTTe 3cdleat & 200 Afoga eaufaav s
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Q2.
Graph : Production of Foodgrains in India (Million Tonnes)
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Source: Department of Agricultural, Cooperation and Farmers Welfare, Ministry of Agriculture
and Farmers Welfare, Directorate of Economics and Statisties, 2020-21.

Study Graph and answer the following questions:

(@) In which year did our country cross the 200 Million tonne per year mark in foodgrain
production?

(b) In which decade did India experience the highest decadal increase in foodgrain production?
(c) Is production increase consistent in India since 2000-01?

Answer

In the years 2001-02 and 2003-04 our country crossed the 200 million tonnes per year mark in
food grain production.

India experienced the highest decadal increase in food grain production between 1980-1990.
No the increase in food grain production did not remain consistent after 2000-01 because it
declined in 2002-03.
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QL. Visit your area’s ration shop and get the following details
1. When does the ration shop open?



2. What are the items sold at the ration shop?

3. Compare the prices of rice and sugar from the ration shop with the prices at any other grocery
shop? (for families below poverty line)

4. Find out: Do you have a ration card? What has your family recently bought with this card from
the ration shop?

5. Are there any problems that they face? Why are ration shops necessary?
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Q2. Explain the following

1. Buffer stock

2. Minimum support price
3. Issue price

4, Fair price shops

Answer

Buffer stock : The food grains so procured are stored in warehouses of the FCI. This stock of food
grains is called the buffer stock. The buffer stock is used to prevent a shortage of food in adverse
conditions like crop failure and natural calamities.

Minimum Support Price

The farmers are paid a pre-announced price for their crops. This price is called Minimum Support
Price. The MSP is declared by the government every year before the sowing season to provide
incentives to the farmers for raising the production of these crops.

c.Issue Price

Buffer stock is created to distribute food grains in the deficit areas and among the poorer strata of
society at a price lower than the market price also known as Issue Price. This also helps resolve the
problem of shortage of food during adverse weather conditions or during periods of calamity.

d. Fair Price Shops

The food procured by the FCI is distributed through government-regulated ration shops among the
poorer section of the society. This is called the public distribution system (PDS). Ration shops are
now present in most localities, villages, towns and cities. There are about 4.6 lakh ration shops all
over the country. Ration shops also known as Fair Price Shops keep stock of food grains, sugar,
kerosene oil for cooking. These items are sold to people at a price lower.



